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Question Number : 1 Question Id : 50389010143 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given responses, find the missing term in the series.

A2P, D3Q, H5R, M7S, S11T, Z13U, ?
Options :

1. ® GI5V

2. ¥ HI17V

3. ®# E15V

4. % HI17S

Question Number : 1 Question Id : 50389010143 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fau e fawmed & 9, 30ft # g ue &) 31d Y

A2P, D3Q, H5R, M7S, S11T, Z13U, ?
Options :

1. ® GI5V

2. ¥ HITV

3. ® E15V

4. = HI17S

Question Number : 2 Question Id : 50389010144 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given responses, find the missing letter in the series.

X, V,T,R,P,?
Options :
1.¥ N

2.% S
3.%Q

4.% 0

Question Number : 2 Question Id : 50389010144 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faQ 7T faemedi O 9, 907 & g 3feR &1 J1d B

X, V,T,R,P,?
Options :
1. ¥ N

2.% S
3.%Q



4. % 0O

Question Number : 3 Question Id : 50389010145 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, select the odd word from the given alternatives.
Options :

1. % Volt

2. % Ampere

3. ¥ Resistance

4. # Faraday

Question Number : 3 Question Id : 50389010145 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAefaRad A ¥, fou U fomedi | O foud Wsg &1 999 &1 |
Options :

1. % diee

2. % TR

3. ¢ UicRIY

4. % TS

Question Number : 4 Question Id : 50389010146 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the related word from the given alternatives.

Car : Garage : : Aeroplane : ?
Options :

1. % Airhostess

2. % Flying

3. ¥ Hangar



4. * Landing

Question Number : 4 Question Id : 50389010146 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau 7T fadey 9 Haiferd e |
PR : IR ; : §ATS ST : 2

Options :
]. % TR Y
2. % 3sl4
3. ¥ §R
4. % ofST

Question Number : 5 Question Id : 50389010147 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the related letters from the given alternatives.

GOAL :20::SEA :15:: MESSI : ?
Options :

1. * 30

2.9 25

3. % 40

4. % 15

Question Number : 5 Question Id : 50389010147 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f&u U fasredl & | e sfarl o1 9a- B
GOAL :20:: SEA : 15 :: MESSI : ?

Options :



1. #® 30
2.9 25
3. % 40
4. % 15

Question Number : 6 Question Id : 50389010148 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In a certain code language, 'TIGER' is coded as 'QDFHS'. How is 'HORSE' coded in that language?

Note: For this question, discrepancy i1s found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. FRQNG

2. FRPNG

3. ETQNG

4. ERSNK

Question Number : 6 Question Id : 50389010148 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U Ay ®Ig U &, 'TIGER' &1 'QDFHS' & ¥ A pifsd f5a1 9T 8, @ 'HORSE' &l 39 IS HINT § Y Hifsd SITdT g2
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. FRQNG

2. FRPNG

3. ETQNG

4. ERSNK




Question Number : 7 Question Id : 50389010149 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a row, Anu is the 12th person from the left end, Ali is the 18th person from the right end and Abhi is the 24th person from the left end. If Anu
and Ali interchange their positions then Anu is 34th from the left end. How many persons are there between Ali and Anu at present?

Options :
1. % 23
2.9¥ 21
3.% 19
4. % 17

Question Number : 7 Question Id : 50389010149 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS Ufdd §, STU BR ¥ 3 1291 fdd 7, S BR W el 1891 Afad § auT ot a1 BR 9 247t afad g1 3 3R oreft oot U & srgama
BRI ¢ q9 A T BR Y 343 VM W 71 37l 3R 3 & o 319 o safaa 32

Options :

1. # 23

2.9 21

3. % 19

4. % 17

Question Number : 8 Question Id : 50389010150 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If 18th January 2012 was Tuesday then which day will be 23rd June 2012?
Options :

1. * Wednesday

2. #* Thursday

3. ¥ Friday

4. # Saturday



Question Number : 8 Question Id : 50389010150 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe 18 SHaRY 2012 P TR AT, Al 23 S 2012 P T GRTI?
Options :

1. % dYdiR

2. % T[%dRR

3. ¥ YhdR

4. % QIR

Question Number : 9 Question Id : 50389010151 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question below, there are two statements followed by four conclusions given in options. You have to take the given statements to be true
even if they seem to be at variance with commonly known facts and then decide which of the given conclusion logically follow(s) from the given
statements.

Statements:
All metals are gold.
All gold are silver.

Options :

1. # All silver are metals

2. % All gold are metals

3. % Some metals are silver

4. % Some metal is not silver

Question Number : 9 Question Id : 50389010151 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I RRu e uy & QYA & 91 fAwedt § IR ey feu U 81 3! fT U Sy & I HHAT 8, Hd & d Jagrd a9 v udid
gid g1 1 it sl 1 ufgu fisr 0 wifere fob fou e el & § S 91 dhaiTd 30 I 3ERUI 1 §, 918 d1d 9 $ i gl

DHY:



it 1, AR

gt v, =i |
Options :

1. % gt =idl g §

2. % it 9, U1 ©

3. ¥ B YT, Tie 8

4. % S U, T TR R

Question Number : 10 Question Id : 50389010152 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question below are given two statements followed by two conclusions numbered I and II. You have to take the given statements to be true
even if they seem to be at variance from commonly known facts. Read both the conclusions and then decide which of the given conclusions
logically follows from the given statements.

Statements:
All roses are fruits.
All fruits are trees.

Conclusions:
I. All trees are roses.
II. Some fruits are roses.

Options :

1. #* If only Conclusion I follows

2. % 1If only Conclusion II follows

3. % If either Conclusion I or IT follows
4. % If both Conclusions I and II follow

Question Number : 10 Question Id : 50389010152 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I &3 T Uy B G By 3R 3P A1 21 s 1 3R 11 AT U § 1 3k AT TN Hu bl I A1 | 1 Y 21 9 g gt J faerd
Tciid 811 gl s &l UfgU 3R iR o SifoTd for i a1 Fehy AT T S &1 adh T U ¥ S{I¥R0l HRll g |



hY:
gt e, wa g |
i v, U B

fsem:

. i 0, Teaa €1
II. $3 Bd, T & |
Options :

1. % Tfe Had Fpy 1 3FIIR0I Rl §
2. ¢ TfE Had FsHT 11 TRV Rl §
3. % i a1 ql Fepe 1 37 11 SFaR0T 3l §
4. % gie Q1 fFepy 1 3R 11 SR B &

Question Number : 11 Question Id : 50389010153 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question given, relations between different elements are shown in the statements. These statements are followed by two conclusions. Find
out which of the given conclusions follow(s) the given statements and select the correct alternative from the given choices.

Statements:
J>D=W>K;D=L>E

Conclusions:
I.LE<]
I. K>L

Options :

1. % Only conclusion I is true

2. % Only conclusion II is true

3. % Either conclusion I or II is true

4. ® Neither conclusion I nor II is true

Question Number : 11 Question Id : 50389010153 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

feu Uy A, T A AfNe 3raudl & ol a9 ol i T 81 HU & 915 &l ey fau mu g1 fRT U 99 & 3nyR R st &
T B 3R Ifad I B gl

HY:
J>D=W>K;D=L>E

fn
[.LE<]
II.K>L

Options :

1. ¢ ad ey 1 9T 8

2. % Phad ey 1T |

3. %8 gAY 1T 1 g

4. % A [ RAT NI E

Question Number : 12 Question Id : 50389010154 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the set in which the numbers are related in the same way as are the numbers of the following set.

(5,12,13)
Options :

1. % (13,11, 17)
2. % (9,11, 15)
3. % (11,13, 14)
4. ¥ (7,24,25)

Question Number : 12 Question Id : 50389010154 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S T &1 99 o orH HeaT ST aRE S0 H Wfid § o TR v e fau T g § omow & 96t g




(5,12, 13)
Options :
1. % (13,11, 17)
2. % (9,11, 15)
3. % (11,13, 14)
4.9 (7,24,25)

Question Number : 13 Question Id : 50389010155 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing number in the series given below.

15, 23,31, 39, ?, 54, 61
Note: For this question, discrepancy i1s found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. 47

2.46

3.44

4. 45

Question Number : 13 Question Id : 50389010155 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

<3 € et oMt e e 9 Y
15, 23,31, 39,7, 54, 61
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :



1. 47
2.46
3.44
4.45

Question Number : 14 Question Id : 50389010156 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If each circle represents a class of objects/ideas written below, then find out the answer figure which illustrates the best relationship among.

“Non-vertebrates, Vertebrates, Living beings"
Options :

Qo

2. ®



4. ¢

Question Number : 14 Question Id : 50389010156 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i U g il 4T 7T aegafl/faaml o1 axifd 5, O 98 IR SHid 1 B Sl (9 § Jad 9gaR G5 D! G|

Options :

Qo

2. ®



Question Number : 15 Question Id : 50389010157 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following figure, Rectangle represents human, Traingle represents Man and circle represents Father. Which set of letters represents Father
which are either human or Man?

Options :
1. * a, e
2.¥d, b
3.% ¢c,a

4. % d,a, e

Question Number : 15 Question Id : 50389010157 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

oI oifepfa ®, Simad 7Hd &1 &=1iaT 8, Ay SieH! &1 Gl § SR I fUdT &1 g1 31 31&RT BT S 91 9Hg a1 o axifdr & S



g1l AG T TSHT 82

Options :
1. % a, e
2.¥d,b
3. % c,a

4. % d,a,¢e

Question Number : 16 Question Id : 50389010158 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A clock is placed in such a way that when it is 12°O clock, the hands point towards North-East direction. In which direction will the hour hand
point at 6 PM?

Note: For this question, discrepancy 1s found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. West

2. East

3. South

4. South-West



Question Number : 16 Question Id : 50389010158 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
gﬂﬂ?@@ﬁsﬂ e W W ST § T T g3t H 12 §o7d § Al St B g Jd [N P 3R SRT B & | H 6 o IS1 DI °e arelt I frg
?

Note: For this question, discrepancy is found in question/answer. So,this
question 1s 1gnored for all candidates.

Options :

1. i
2.qd

3. GI&OT

4. Sf&orufay

Question Number : 17 Question Id : 50389010159 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the figure that will come next in the following series.

Questions figures:
® *x @

s | i | D
] O LAe x *
Options :

®
$
0 %

1. ¢




$ 5 %

4. %

Question Number : 17 Question Id : 50389010159 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fATAfIRIT et o 311 31 dTell MThfd BT I B

qed T
S5 [0
O @) NAe x| =

Options :



1. ¢

3.8

@

$
.
4. %

Question Number : 18 Question Id : 50389010160 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many triangles are there in the given figure?



Options :
1. % 16
2. % 18
3.% 19
4.9 20

Question Number : 18 Question Id : 50389010160 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

@ T Sphy A foran Bryer g7

Options :
1. % 16
2. % 18
3.% 19
4.4 20

Question Number : 19 Question Id : 50389010161 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Three different positions of a dice are shown below.

| I i

Which of the following number is opposite to 1?

Note: For this question, discrepancy is found in question/answer. So,this
question 1s 1gnored for all candidates.

Options :
1.2
2.3
3.6
4.4

Question Number : 19 Question Id : 50389010161 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U U o fafire fRufaai i & e B

i i} i

Fraffea 3 3 .30 v 1 F R 2
Note: For this question, discrepancy is found in question/answer. So,this



question 1s 1gnored for all candidates.
Options :

1.2

2.3

3.6

4.4

Question Number : 20 Question Id : 50389010162 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the figure in which the given figure is embedded (rotation not allowed).

L]
Options :

o

H H

3. ¢




Question Number : 20 Question Id : 50389010162 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

a8 3Mpfa g o &) 718 snepfa afafea/fsth & (snmefa & ulkemaorgam ot srgafa =2 ) |

L]
Options :
O
1. % I I !

3.¢

General Awareness
Group Number : 2

Group Id : 503890262



Group Maximum Duration : 0

Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No

General Awareness

Section Id : 503890398
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 503890469
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 50389010163 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following individuals designed the Rashtrapati Bhavan?
Options :

1. #* Francis Octavius Bedford

2. ¥ Edwin Landseer Lutyens

3. #* Ignatius Bonomi

4. % Thomas Baldwin



Question Number : 21 Question Id : 50389010163 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefed & © fg safd A ugufa vaa &1 feeg dar fear ar
Options :

1. % IR Sffefagy dehie

2. ¢ TSfad e gfedy

3. % SYIMCTY S ITHD

4, % YIAY SresfaA

Question Number : 22 Question Id : 50389010164 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Guru Nanak Dev, on whose birth anniversary Gurunanak Jayanti is celebrated, was born in which year?
Options :

1. ¥ 1469

2. % 1487

3. % 1529

4. % 1687

Question Number : 22 Question Id : 50389010164 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

% A <, foe! SRidh WR TS SRic J-18 Sl 6, BT o fohd ay gaiT UT?
Options :

1. ¥ 1469

2. % 1487

3. % 1529

4. % 1687

Question Number : 23 Question Id : 50389010165 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Which of the following rulers built Charminar?
Options :

1. ¥ Mohammed Quli Qutab Shah

2. # Nizamia Unani

3. % Shah Jahan

4. % Sher Shah Suri

Question Number : 23 Question Id : 50389010165 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fofefad & 3 f5g Imge 3 IRAAR &1 A searr ur
Options :

1. ¢ HIgHG Dol pdd U8

2. % fenferar g

3. % QESTEl

4. % YR E G

Question Number : 24 Question Id : 50389010166 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year, Unorganized Workers Social Security Act was passed?
Options :

1. % 2006

2. % 2000

3. ¥ 2005

4.+ 2008

Question Number : 24 Question Id : 50389010166 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

STTST i AqreTfoIh JR& Sifefad foe o & uria fasar war ume



Options :
1. % 2006
2. % 2000
3. % 2005
4. % 2008

Question Number : 25 Question Id : 50389010167 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is not a money market instrument?
Options :

1. # Cash Management Bill

2. # Certificate of Deposit

3. % Commercial Paper

4. ¥ Debenture

Question Number : 25 Question Id : 50389010167 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fraffad & & ®1F-91 qa1 SIoTR &1 91eF 81 82
Options :

1. % g yayd [d9gs

2. ® STH YHUUA

3. % qifUrfcds U

4. ¢ BUTA

Question Number : 26 Question Id : 50389010168 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the pH value of a neutral solution?
Options :



1. # Less than 7
2. % More than 7
3.¢¥7
4. %0

Question Number : 26 Question Id : 50389010168 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I faaa (Neutral Solution) T pH HIH foam @m %‘?
Options :

1. % 79DH

2. % 79 b

3.¢7

4. % 0

Question Number : 27 Question Id : 50389010169 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following elements has a valency of 2?
Options :

1. ¥ Beryllium

2. % Nitrogen

3. % Carbon

4. % Silicon

Question Number : 27 Question Id : 50389010169 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefead & 9 59 da ot TaishdT 2 82
Options :

1. « aRferaw




2. % ATECIoH
3. % HE
4. % TYfcrpid

Question Number : 28 Question Id : 50389010170 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The lower most layer of Soil is called what?
Options :

1. # A-Horizon

2. ¥ Bedrock

3. % B-Horizon

4. ¥ C-Horizon

Question Number : 28 Question Id : 50389010170 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
el &t gay el IRd & 71 Fgd 87
Options :

1. % AGIRGH

2. ¥ ISUD

3. % BRINGH

4. % CRINGH

Question Number : 29 Question Id : 50389010171 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Shyok and Gilgit are tributaries of which river?
Options :

1. % Ganga

2. % Brahmaputra



3. # Godavari

4. % Indus

Question Number : 29 Question Id : 50389010171 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i 3R Mafd fbg 7t 31 Jeraes e &2
Options :

1. % TR

2. % oglyd

3. % Terad

4. Y

Question Number : 30 Question Id : 50389010172 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In what year did the Battle of Plassey took place?
Options :

1. % 1857

2.9 1757

3. % 1747

4. % 1769

Question Number : 30 Question Id : 50389010172 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
W &1 g foo aef gam um

Options :

1. % 1857

2.9 1757

3. % 1747



4. % 1769

Question Number : 31 Question Id : 50389010173 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which town did the Mutiny of 1857 began?
Options :

1. # Delhi

2. # Lucknow

3. % Kolkata

4. ¥ Meerut

Question Number : 31 Question Id : 50389010173 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
1857 1 fasTe fobd 2gR # &= ganm um
Options :

1. % foeeht

2. #® qYISH

3. % DIABII

4. W3

Question Number : 32 Question Id : 50389010174 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following individuals was the Guardian of the Mughal King Akbar?
Options :

1. % Khusru

2. % Abdul Kalif

3. ¥ Bairam Khan

4. % Adil Shah



Question Number : 32 Question Id : 50389010174 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad & § ®19-91 safad I JICRE SHhaR Bl TIREH UT?
Options :

1. ® g

2. % 3fegd Bl

3. WA

4, % 3fIfcd 28

Question Number : 33 Question Id : 50389010175 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who is the only Chief Justice to be appointed as the Acting President of India?
Options :

1. ¥ M. Hidayatullah

2. % AK. Sarkar

3. ® VV Giri

4. % Ramnath Kovind

Question Number : 33 Question Id : 50389010175 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR & HRIATE® AFUT & U H Fgad g arel T G T dH 62

Options :

1. ¢ TH fReradewg
2. % Wb, WPR

3. % qrdl Rk

4, % JHATY Pifdg



Question Number : 34 Question Id : 50389010176 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who was the first Chief Election Commissioner of India?
Options :

1. ¥ KV Sundaram

2. ¥ Sukumar Sen

3. # SP Sen Verma

4. % OP Rawat

Question Number : 34 Question Id : 50389010176 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YR & Ugd T3 g9 SATgad DI A2
Options :

1. % ohdl gad

2. JHUR I

3. % Tgul I q|

4. % 3G Tad

Question Number : 35 Question Id : 50389010177 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following individuals is the author of the book "Chandrakanta"?
Options :

1. ¥ Devaki Nandan Khatri

2. # Subhadra Kumari Chauhan

3. #® Jiashankar Prasad

4. ¥ Munshi Premchand

Question Number : 35 Question Id : 50389010177 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

frafafad safdadl § 9 o e dadiar & a8d 82
Options :

1. ¢ Cab! e Tl

2. % GUST HARI AR

3. % forTRiehy UITG

4. % 4N U<iq

Question Number : 36 Question Id : 50389010178 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who is the current Prime Minister of Japan?
Options :

1. % Shinzo Abe

2. ¥ Yoshihide Suga

3. # Naoto Kan

4. # Yoshiro Mori

Question Number : 36 Question Id : 50389010178 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ST & JHTH YT HaAl B 82
Options :

1. % RISl arrel

2. ¢ MRS

3. % TSIl B

4. % YIRRY AR

Question Number : 37 Question Id : 50389010179 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



What is the name of China's Space Agency?
Options :

1. ¥ China National Space Administration
2. # China National Space Agency

3. # China National Science Agency

4. # Chinese Space Administration

Question Number : 37 Question Id : 50389010179 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I 1 SiaRel Tl 1 T 91 &
Options :

1. ¢ 9 S 3iaRe g

2. % P A SiaRe T

3. % 9 5T fag wordt

4. % T 3faRes U=ITE

Question Number : 38 Question Id : 50389010180 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which company has built the world’s biggest airplane ever, named Roc?
Options :

1. % Boeing

2. % Airbus

3. % HAL

4. ¥ Stratolaunch

Question Number : 38 Question Id : 50389010180 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forg Bt A I=a BT 3E T BT I TS1 §ATS SgTol ST g, FIHT A1 RIS (Roc) 62

Options :



1. % §IET

2. % TIREY
3. % TdUuud
4. ¥ KA

Question Number : 39 Question Id : 50389010181 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who was the winner of the US Open 2020?
Options :

1. # Roger Federer

2. # Rafael Nadal

3. % Dominic Thiem

4. ¥ Novak Djokovic

Question Number : 39 Question Id : 50389010181 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Uy 314 2020 HT faorar S 412
Options :

1. % YR BeR

2. % e TS

3. ¢ St fiew

4. % A1 Sliepliad

Question Number : 40 Question Id : 50389010182 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the full-form of ATP?

Options :

1. % Academy of Tennis Players



2. % Association of Tennis Professionals
3. % Agency for Tennis Professionals

4. % Asian Tennis Professionals

Question Number : 40 Question Id : 50389010182 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T &1 G H o1 82

Options :

1. % ThsHl 31th ¢ ©iR

2. ¢ THIRIURM 31 <Y Mhe-ed
3. % Qo R Y Ut

4. % TR Y WhRHE

Arithmetic Ability

Group Number : 3

Group Id : 503890263
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No

Arithmetic Ability
Section Id : 503890399

Section Number : 1
Section type : Online



Mandatory or Optional : Mandatory

Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 503890470
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 50389010183 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What will come in the place of question mark (?) in the given expression?
35 }: = 5 E 4 E =6
4 4

Options :
1. % 21.5
2. % 22
3. % 225
4.9 23

Question Number : 41 Question Id : 50389010183 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fou T i H Uy IR (2) & R IR &1 ST

s ] 9
252 +=+2=7
= =

Options :
1. %® 21.5



2. %22
3. %225
4.9 23

Question Number : 42 Question Id : 50389010184 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What approximate value should come in place of question mark (?) in the following questions? (You are not expected to calculate the exact
value.)

V225 x 7+ 1700 + 8.5 =650

Options :
1. % 16
2.9 30
3. % 18
4. % 20

Question Number : 42 Question Id : 50389010184 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy & uydrae g (2) & I IR &1 SIgHTAT J19 311 I1eE? (39 Tt A Bt IT0HT d3 & SUTed gl )
V225 % 2+ 1700 + 8.5 =650

Options :
1. % 16
2.9 30
3. % 18
4. % 20



Question Number : 43 Question Id : 50389010185 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If mx® + 4x* + 6x +4 is divisible by x+2. then what is the value of m?

Options :
1. %2
2.%3
3.¢ 1
4, % -1

Question Number : 43 Question Id : 50389010185 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TG mx3 + 4x2 + 6x +4 T x+2 @RI [ATSa T Smar &, df m 7 A1 fvae &2

Options :
1. %2
2.%3
3.1
4. % -]

Question Number : 44 Question Id : 50389010186 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the least square number which is divisible by 4, 8, 9, 10 and 12?
Options :

1. # 1024

2. % 900

3. % 3600

4. % 1440



Question Number : 44 Question Id : 50389010186 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y gAdH I AT I DT S 4, 8, 9, 10 3R 12 ¥ faursa g2
Options :

1. % 1024

2. % 900

3. ¥ 3600

4. % 1440

Question Number : 45 Question Id : 50389010187 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the largest fraction of the following fractions?
Options :
=]
1. # 35

19

2.« 98

i3

3 % 69

21
4 % 113

Question Number : 45 Question Id : 50389010187 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fraferRad el & @ Tod ISt fHe J1d Hifore?
Options :

=
1. ® 35

19

2.« 98

13

3 % 69

21

113

Question Number : 46 Question Id : 50389010188 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The number of visitors for the Jim Corbett national park from Monday to Friday were 1029, 1340, 943, 881 and 1147 respectively. The average
number of visitors for the park per day of the week was 1220. What is the average number of visitors on weekends (i.e., Saturday and Sunday)?

Options :
1. % 1500
2. % 1560
3. % 1650
4. % 1600

Question Number : 46 Question Id : 50389010188 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AR ¥ YEHAR dd [oTH BHise A= UTdh & ol SRTgen! o1 TReaT SHHT: 1029, 1340, 943, 881 3R 1147 At | Twdtg & Ul faq ureh & forw
ST BT ST TEAT 1220 At | TeaTgid (@, AMAR 3R IATAR) W SMIGHI BT ST ST T 52

Options :




1. *® 1500
2. % 1560
3. ¥ 1650
4. % 1600

Question Number : 47 Question Id : 50389010189 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hari is saving some part of his monthly salary to buy a car. Then he will buy the car in 48 months. How much percent should be increase his
savings to buy the car in 36 months?

Options :

1. # 25 percent

2. ¥ 33.33 percent
3. % 20 percent

4. ¥ 16.66 percent

Question Number : 47 Question Id : 50389010189 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

PR WieA F o aRk 3o Al 397 &1 oo R s @1 ]| A 98 48 AR § R WG AT 36 AN § ®R WiieA & forg 3! srd
7 for - ufa=ra gfs g1 =g e

Options :

1. % 25 gfard
2. ¢ 33.33 Ufa=rd
3. % 20 gfa=rd
4. % 16.66 Ufa2rd

Question Number : 48 Question Id : 50389010190 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a town, 40 percent of male population and 30 percent of female population are married. Assuring that one man marries one woman and vice-
versa, find the percentage of total population who are married?



Options :

1. # 30 percent

2. ¥ 34.28 percent
3. % 31.42 percent
4. % 32.14 percent

Question Number : 48 Question Id : 50389010190 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 8R H, 40 T T3 ATETET 37R 30 U= Al SEEl MEIeT 8 | T8 A 8¢ [ Th T3V Ush Higa J XM Rl 8 3R 395
fauRid, 1 SATETE! o1 Ud=Id 1d Piford S faarfed &2

Options :

1. % 30 gfard

2. ¢ 3428 Ufa=rd
3. % 31.42 gfa=rd
4. % 32,14 9fa2rd

Question Number : 49 Question Id : 50389010191 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The profit earned on selling a bike for Rs.66750 is the same as the loss incurred on selling the bike for Rs.43250. find the cost price of the bike.
Options :

1. ¥ Rs.55000

2. # Rs.57500

3. ¥ Rs.50000

4. % Rs.52500

Question Number : 49 Question Id : 50389010191 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gmﬁ%%omﬁéﬂms{ﬁhmwwumﬁ%zsoWﬁﬁéﬂm 3ffofd forg 7Y 811 & THM § | 915% &1 hd Jd J1d
|




Options :

1. ¥ 55000 3T
2. % 57500 3T
3. % 50000 3T
4. % 52500 304

Question Number : 50 Question Id : 50389010192 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A and B started a business together with initial investment of Rs. 3200 and Rs. 4800, respectively. After 3 months, C joined them with an
investment of Rs. 4000. If after a year, they received a total profit of Rs. 4950, then find the profit share of B.?

Options :

1. # Rs. 2240
2. % Rs. 1860
3. ¥ Rs. 1920
4. ¥ Rs. 2160

Question Number : 50 Question Id : 50389010192 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A 3R B A U 3200 FUT 3R 4800 TTY & RNF A & WY HRIGR L= fbar| @F 7R 918, €, 4000 TYY & 1Y FRITR I J3T|
e THh a9 915, I8 T AT 4950 ST 3ffofd foram dt B & TTH BT 5w 1d He2

Options :

1. % 2240 304
2. % 1860 TYY
3. % 1920 390
4. ¥ 2160 3T

Question Number : 51 Question Id : 50389010193 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Sum of age of Abhi before 9 years and age of Anjali after 6 years is 41 years. Ages of Abhi and Anjali after 8 years will be in the ratio 7 : 8



respectively. What is the difference between their present ages?
Options :

1. ¥ 4 years

2. % 8years

3. % 6 years

4. % 2 years

Question Number : 51 Question Id : 50389010193 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o T T Ugd Y B 3G 3R 6 TH & qTE ASIT Bt MY BT AT 41 T g1 8 TN &g 1N 3R AT B AT HHJ: 7 : 8 P U & &It
D! I 3T & d1d BT 3R FT1 87

Options :

1. ¥ 499

2. % g qy

3. % 6aY

4. % 299

Question Number : 52 Question Id : 50389010194 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

At what percent per annum will Rs.3000 amounts to Rs.3993 in 3 years ,if the interest is compounded annually?
Options :

1. # 9 percent

2. % 10 percent

3. % 11 percent

4. % 13 percent

Question Number : 52 Question Id : 50389010194 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fore aTffer STl Bt &R T 3000 U, 3 T H 3993 TG g1 SMUTH, TG Thgf SISl AINd o4 BI2



Options :

1. % 9 gfa=rd
2. ¢ 10 Ufa=rd
3. % 11 gfa=rd
4. % 13 gfaerd

Question Number : 53 Question Id : 50389010195 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A man walks at 6 m/sec and reaches his destination in 80 minutes. A woman covers the same distance in 1.2 hr. What is the speed of the woman
(in km/hr)?

Options :
1. % 21.6
2.9 24
3. % 20
4. % 28.8

Question Number : 53 Question Id : 50389010195 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP K 6 Hie/Ads Tadl § 3R 30 Tided W 80 fiFe & ugd a1 8 | T Al I0H g8 & 1.2 ¢ H qa &Rl g | Afgar &t ifa
forat 82 (for Heier 1)

Options :

1. % 21.6

2.¥ 24

3. % 20

4. % 28.8

Question Number : 54 Question Id : 50389010196 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A 275 metre long train crosses a platform of equal length in 33 seconds. What is the speed of the train in kmph?



Options :
1. #® 66
2.9 60
3. % 64
4. % 72

Question Number : 54 Question Id : 50389010196 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

275 Hiex Tl T ¢ U THH TS & WeHIH Bl 33 YHUS W UR HRdT |, Al o &1 111 1d B (fpHl/aver #)
Options :

1. #® 66

2.9 60

3. % 64

4. % 72

Question Number : 55 Question Id : 50389010197 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A alone can do a piece work 18days.A began the work but leaves after 4 days.B completed the remaining work in 21 days. In how mant days B
alone could do the work?

Options :

1. ¥ 27 days
2. % 28 days
3. % 26 days
4. % 36 days

Question Number : 55 Question Id : 50389010197 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A 3Pl 18 I U P HRIABAT ]| A 7 HH L= a1 dfds 4 7 918 w11 SIS a1 SR IV SR B A 21 31 H 1o fern| B
3t BT b fartl & o Favdl 82




Options :

1. ¢ 278
2. % 2gfaT
3. % 26faa
4. % 36faT

Question Number : 56 Question Id : 50389010198 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A square and an equilateral triangle have equal perimeter If the diagonal of the
square is 12+/2 cm, then find thearea of the triangle?

Options :

24 /2 em?
1. ® :

24 4/3 em?
3 % 64 2 em?

64 /3 cm?

Question Number : 56 Question Id : 50389010198 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
w93t 3R U ey Fels T aRATT R 81 AT et Aot 12 V2 Fva,
o PregeT &7 a1her AT W

Options :



| x 2428
5 % 243 G
3 % 6442 AP

643 T

Question Number : 57 Question Id : 50389010199 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The curved surface area of a cylinder is 352 cm?2. If the total surface of the cylinder is 429 cm2, then what is the radius of the cylinder (given ©t =
22/7)?

Options :
1. % 7cm
2. % 49cm
3. % 3cm

4. % 35cm

Question Number : 57 Question Id : 50389010199 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP ST BT Ih G &6 d 352 T2 B 1 1S 9T &1 Hdl U1 &0d 429 T2 § f S &t st vt 8 (n = 22/7 fear manr 8)?

Options :

1. % 799!
2. % 4.99H!
3. % 30t
4. 3.5 QA



Question Number : 58 Question Id : 50389010200 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The pie-chart given below represents the percentage distribution of the number of eggs sold by a shopkeeper on different days of a week.

Percentage distribution of the number of eggs sold by a shopkeeper

If total number of eggs sold in the whole week is 1600, then find the number of eggs sold on Monday.
Options :
1. % 204
2. ¥ 288
3. % 312
4. % 180

Question Number : 58 Question Id : 50389010200 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e a1 uR-ard ue 9w & fafid fo & U ghMaR gR1 o4 T 3{UST &1 6@ & UfcRId faavur &1 Hiaffia SRl g

Uh GHIFGR gRI 9d U 38! i T HhT Ufa=rd faarur




e X e H o T Hd 3{UST 1 WBAT 1600 § Al WHAR Bl 9 T Fd US| B1 T faat gift
Options :
1. % 204
2. 288
3. % 312
4. % 180

Question Number : 59 Question Id : 50389010201 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The pie-chart given below represents the percentage distribution of the number of eggs sold by a shopkeeper on different days of a week.

Percentage distribution of the number of eggs sold by a shopkeeper



If total number of eggs sold in the whole week is 1300, then find the difference between the number of eggs sold on Friday and the number of
eggs sold on Sunday.

Options :
1. ¥ 52
2. % 65
3. %39
4. % 178

Question Number : 59 Question Id : 50389010201 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
= fear mor urg-ard e gwre & faftd i3 & U gpTeR gRT o9 U 3UST B We & Ufard faarur &1 ufaffda sar gl

U GHMCR gRI 9d T S| B H-AT DT Ufa=rd faaRom
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3R 1 B2

Options :

1.¥ 52

2. % 65

3. % 39

4.% 78

Question Number : 60 Question Id : 50389010202 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Read the following bar diagram carefully to answer the questions given below. Marks obtained by five students in different subjects - Maths,
English and Science - in an examination.



m Maths m English = Science

Marks Obtained by Students

Rajeev Marendra Amit Veena Ramesh
Students

If the maximum marks for each subject is 95, then who secured highest percentage of marks from all the subjects together?
Options :

1. # Rajeev

2. ® Narendra

3. ¥ Amit

4. ® Veena

Question Number : 60 Question Id : 50389010202 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
=<l faQ 7L g b1 TR 3 & o Fafemad SR e @1 e A U | e e & faftrs fawal - ford, sidroit 3R fagr & uiw BBl g1
UItd 3P |



@ISl ganT UIed e

¥ag 0 der A

Students

Ife Ud® fawy & fore siffiedr 3ics 95 ©, @ I+t fawat & wes 1y sif¥ieran ufawra i fram ure faar 2

Options :
1. % roitg
2. % g
3. ¢ 3fHd
4. % dfur

Group Number :
Group Id :

Group Maximum Duration :
Group Minimum Duration :

Show Attended Group? :
Edit Attended Group? :
Break time :

General English

4
503890264
0

0

No

No

0



Group Marks : 20

Is this Group for Examiner? : No
General English

Section Id : 503890400

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 16

Number of Questions to be attempted : 16

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 503890471

Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 50389010203 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, four sentences are given out of which three sentences are grammatically incorrect while one is correct. Find out which
sentence is grammatically correct and select the appropriate option.

Options :

1. # Trump quickly fired back as he moved to inflict greater economic pain to Iran.

2. # He will punish anyone who bought or trades the country's iron, steel, aluminum and copper.
3. # The White House had already acted forcefully to prevent all countries to buy Iran's oil.

4. ¥ Tehran can expect further actions unless it fundamentally alters its conduct.

Question Number : 61 Question Id : 50389010203 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, four sentences are given out of which three sentences are grammatically incorrect while one is correct. Find out which
sentence is grammatically correct and select the appropriate option.



Options :

1. #® Trump quickly fired back as he moved to inflict greater economic pain to Iran.

2. % He will punish anyone who bought or trades the country's iron, steel, aluminum and copper.
3. # The White House had already acted forcefully to prevent all countries to buy Iran's oil.

4. ¥ Tehran can expect further actions unless it fundamentally alters its conduct.

Question Number : 62 Question Id : 50389010204 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the segment in the sentence which contains the grammatical error from the given options.

Peter decides to revising his chapters instead of watching television.
Options :

1. # Peter

2. ¥ to revising

3. # instead of

4. ® watching

Question Number : 62 Question Id : 50389010204 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the segment in the sentence which contains the grammatical error from the given options.

Peter decides to revising his chapters instead of watching television.
Options :

1. ¥ Peter

2. ¥ to revising

3. # instead of

4. ¥ watching

Question Number : 63 Question Id : 50389010205 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select 'No
substitution required'.

What we do to the planet will determine what the planet do to us.
Options :

1. ¥ does to us

2. % did to us

3. % will do to us

4. % No substitution required

Question Number : 63 Question Id : 50389010205 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select 'No
substitution required'.

What we do to the planet will determine what the planet do to us.
Options :

1. ¥ does to us

2. # did to us

3. ¥ will do to us

4. # No substitution required

Question Number : 64 Question Id : 50389010206 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select 'No
substitution required'.

Some policemen started heading into the midpoint as they suspected the situation could turn violent.
Options :

1. # to

2. % along

3. ¥ towards



4. % No substitution required

Question Number : 64 Question Id : 50389010206 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select 'No
substitution required'.

Some policemen started heading into the midpoint as they suspected the situation could turn violent.
Options :

1. ® to

2. % along

3. ¥ towards

4. ¥ No substitution required

Question Number : 65 Question Id : 50389010207 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

The measures to bring the budget into balance can only be described as unusual, perhaps even extreme.
Options :

1. # take

2. # took

3. # taking

4. ¥ taken

Question Number : 65 Question Id : 50389010207 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

The measures to bring the budget into balance can only be described as unusual, perhaps even extreme.
Options :



1. # take
2. # took
3. % taking
4. ¥ taken

Question Number : 66 Question Id : 50389010208 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

In most situations, you will be small doses of work at the beginning of a new job.
Options :

1. # ordered

2. # remarked

3. # determined

4. ¥ assigned

Question Number : 66 Question Id : 50389010208 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

In most situations, you will be small doses of work at the beginning of a new job.
Options :

1. # ordered

2. # remarked

3. % determined

4. ¥ assigned

Question Number : 67 Question Id : 50389010209 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the following sentences in their correct order to form a meaningful paragraph.



P. Not too far from the bright lights of Mumbai, a silent scourge is killing thousands of young children.

Q. Their ill-fed bodies vulnerable to infection most succumbed to ailments as minor as diarrhea.

R. Stalked by chronic hunger and disease, nearly 30,000 children below the age of six have died in the last year alone in the state’s rural belt.
S. It may be considered the country’s dollar magnet and envied for its robust industrial base but this image of Maharashtra cloaks a macabre
reality.

Options :

1. # RQSP
2. % SPRQ
3. ¥ QSRP
4. ¥ RSQP

Question Number : 67 Question Id : 50389010209 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the following sentences in their correct order to form a meaningful paragraph.

P. Not too far from the bright lights of Mumbeai, a silent scourge is killing thousands of young children.

Q. Their ill-fed bodies vulnerable to infection most succumbed to ailments as minor as diarrhea.

R. Stalked by chronic hunger and disease, nearly 30,000 children below the age of six have died in the last year alone in the state’s rural belt.
S. It may be considered the country’s dollar magnet and envied for its robust industrial base but this image of Maharashtra cloaks a macabre
reality.

Options :

1. # RQSP
2. ¥ SPRQ
3. ¥ QSRP
4. % RSQP

Question Number : 68 Question Id : 50389010210 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question given below, rearrange the sentences in the correct order, and choose the correct option. The first and sixth (last) statements are
given in the right sequence and are fixed.

1. I was awakened in the night by a noise in the house.



P: I quickly put on my dressing gown and crept downstairs.

Q: In the living room I discovered two burglars breaking into my desk.

R: As I switched on the light I saw that it was 2 o'clock.

S: They were both tall, dark men.

6. As soon as they saw me standing there, they rushed to the window and jumped out.

Options :

1. # PQRS
2. % PQSR
3. ¥ PSRQ
4. ¥ RPQS

Question Number : 68 Question Id : 50389010210 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question given below, rearrange the sentences in the correct order, and choose the correct option. The first and sixth (last) statements are
given in the right sequence and are fixed.

1. I was awakened in the night by a noise in the house.

P: I quickly put on my dressing gown and crept downstairs.

Q: In the living room I discovered two burglars breaking into my desk.

R: As I switched on the light I saw that it was 2 o'clock.

S: They were both tall, dark men.

6. As soon as they saw me standing there, they rushed to the window and jumped out.

Options :

1. # PQRS
2. % PQSR
3. % PSRQ
4. ¥ RPQS

Question Number : 69 Question Id : 50389010211 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the synonym of the given word.

APPARENT



Options :

1. ¥ Obvious
2. # Hidden

3. % Concealed

4. % Latent

Question Number : 69 Question Id : 50389010211 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the synonym of the given word.

APPARENT
Options :

1. ¥ Obvious
2. * Hidden

3. # Concealed

4. % Latent

Question Number : 70 Question Id : 50389010212 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the antonym of the given word.

ABUNDANCE
Options :

1. ¥ Scarcity
2. % Surplus
3. # Huge

4. % Immense

Question Number : 70 Question Id : 50389010212 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the antonym of the given word.

ABUNDANCE
Options :

1. ¥ Scarcity
2. % Surplus
3. # Huge

4. * Immense

Question Number : 71 Question Id : 50389010213 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is correctly spelt?
Options :

1. ¥ Distinction

2. # Destinction

3. # Distination

4. % Distiniction

Question Number : 71 Question Id : 50389010213 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is correctly spelt?
Options :

1. ¥ Distinction

2. # Destinction

3. % Distination

4. % Distiniction

Question Number : 72 Question Id : 50389010214 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following is incorrectly spelt?
Options :

1. # Difference

2. # Contrast

3. # Dissimilarity

4. ¢ Disimilitude

Question Number : 72 Question Id : 50389010214 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is incorrectly spelt?
Options :

1. # Difference

2. % Contrast

3. # Dissimilarity

4. ¢ Disimilitude

Question Number : 73 Question Id : 50389010215 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom/ phrase.

Hit the hay

Options :

1. ¥ Go to bed

2. # Being treated the same unpleasant way you have treated others
3. # Go through something difficult

4. # Getting a good start is important

Question Number : 73 Question Id : 50389010215 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the most appropriate meaning of the given idiom/ phrase.

Hit the hay

Options :

1. ¥ Go to bed

2. % Being treated the same unpleasant way you have treated others
3. ¥ Go through something difficult

4. % Getting a good start is important

Question Number : 74 Question Id : 50389010216 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the alternative which best expresses the meaning of the idiom/phrase bold in the sentence.

He was all at sea when he began his new job.
Options :

1. * Happy

2. % Sad

3. % Puzzled

4. % Triumphant

Question Number : 74 Question Id : 50389010216 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the alternative which best expresses the meaning of the idiom/phrase bold in the sentence.

He was all at sea when he began his new job.
Options :

1. % Happy

2. % Sad

3. ¥ Puzzled

4. % Triumphant



Question Number : 75 Question Id : 50389010217 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

The study of human societies and cultures and their development.
Options :

1. ¥ Anthropology

2. % Calligraphy

3. # Choreography

4. # Physiotherapy

Question Number : 75 Question Id : 50389010217 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

The study of human societies and cultures and their development.
Options :

1. ¥ Anthropology

2. % Calligraphy

3. # Choreography

4. ¥ Physiotherapy

Sub-Section Number : 2
Sub-Section Id : 503890472
Question Shuffling Allowed : Yes

Question Id : 50389010218 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (76 to 80)
Read the following passage and answer the questions below.

Early childhood care and education is a very important area of study in Human Development. In addition to learning new things about the world
around him or her, the infant is developing an attachment with family members, particularly with the mother and father, as well as with siblings,



and grandparents. The young child also begins to recognise other family members and people whom he or she meets regularly. This way, the
child will also be able to distinguish between people who he/she recognises and those who look unfamiliar. This recognition is manifested in the
behaviour where a young baby of around 8—12 months can show fear of unknown people. This fear is not simply an emotional display, it shows a
capacity to recognise familiar faces and thereby indicates a fear of unfamiliar people.

Further, the child is deeply attached to the mother who is generally, but not always, the primary caregiver and can also start to cry when she
leaves the room. The young child of around one year will try to cling to the mother or other caregiver and follow her everywhere. In most cases,
this behaviour is soon discarded because the child develops the ability to know that the mother does not ‘vanish’ when she goes into another
room. The child develops a sense of security even about the primary caregiver’s absence. Further, the child is growing very rapidly, learning to
walk, pick up things with precision, and manage his or her body in many ways. The child is also developing control over bladder and bowel
movements.

Ideally, once the child is around three years of age, the activities and experiences begin to expand. However, experts differ on the exact age until
which a child should be kept at home, before entry to formal school.

Sub questions

Question Number : 76 Question Id : 50389010219 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why does a child start to cry when its mother leaves the room?
Options :

1. #® because child tries to recognise other things in the room
2. % because child does not want to stay alone in the room

3. # because child fears with other thing in absence of mother

4. ¥ because the child is deeply attached to the mother the primary caregiver

Question Number : 77 Question Id : 50389010220 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A young baby of around 8—12 months can show fear of unknown people. What does this line refer to?
Options :

1. # capacity of the child to develop control over bladder and bowel movements

2. ¥ capacity to recognise familiar faces and thereby indicates a fear of unfamiliar people

3. # capacity to learn to walk, pick up things with precision, and manage his or her body in many ways

4. ® the child is developing an attachment with family members, particularly with the mother and father



Question Number : 78 Question Id : 50389010221 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the given passage, child of which stage group will try to cling to the caregiver and follow her everywhere?
Options :

1. # at the infant stage

2. ® two years of age

3. % around one year of age

4. ® three years of age

Question Number : 79 Question Id : 50389010222 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following best expresses the opposite meaning to the given word “Discarded”?
Options :

1. ¥ retained

2. ® dismissed

3. % cast-off

4. ® disposed

Question Number : 80 Question Id : 50389010223 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is incorrect according to the given passage?

Options :

1. ¢ The child does not develop a sense of security about the primary caregiver’s absence when it is around one year of age
2. # Early childhood care and education is a very important area of study in Human Development

3. # The young child also begins to recognise other family members and people whom he or she meets regularly

4. ® Ideally, once the child is around three years of age, the activities and experiences begin to expand

Question Id : 50389010218 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No



Question Numbers : (76 to 80)
Read the following passage and answer the questions below.

Early childhood care and education is a very important area of study in Human Development. In addition to learning new things about the world
around him or her, the infant is developing an attachment with family members, particularly with the mother and father, as well as with siblings,
and grandparents. The young child also begins to recognise other family members and people whom he or she meets regularly. This way, the
child will also be able to distinguish between people who he/she recognises and those who look unfamiliar. This recognition is manifested in the
behaviour where a young baby of around 8—12 months can show fear of unknown people. This fear is not simply an emotional display, it shows a
capacity to recognise familiar faces and thereby indicates a fear of unfamiliar people.

Further, the child is deeply attached to the mother who is generally, but not always, the primary caregiver and can also start to cry when she
leaves the room. The young child of around one year will try to cling to the mother or other caregiver and follow her everywhere. In most cases,
this behaviour is soon discarded because the child develops the ability to know that the mother does not ‘vanish’ when she goes into another
room. The child develops a sense of security even about the primary caregiver’s absence. Further, the child is growing very rapidly, learning to
walk, pick up things with precision, and manage his or her body in many ways. The child is also developing control over bladder and bowel
movements.

Ideally, once the child is around three years of age, the activities and experiences begin to expand. However, experts differ on the exact age until
which a child should be kept at home, before entry to formal school.

Sub questions

Question Number : 76 Question Id : 50389010219 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why does a child start to cry when its mother leaves the room?
Options :

1. # because child tries to recognise other things in the room
2. # because child does not want to stay alone in the room

3. % Dbecause child fears with other thing in absence of mother

4. ¥ because the child is deeply attached to the mother the primary caregiver

Question Number : 77 Question Id : 50389010220 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A young baby of around 812 months can show fear of unknown people. What does this line refer to?
Options :



1. # capacity of the child to develop control over bladder and bowel movements
2. ¥ capacity to recognise familiar faces and thereby indicates a fear of unfamiliar people
3. # capacity to learn to walk, pick up things with precision, and manage his or her body in many ways

4. ® the child is developing an attachment with family members, particularly with the mother and father

Question Number : 78 Question Id : 50389010221 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the given passage, child of which stage group will try to cling to the caregiver and follow her everywhere?
Options :

1. # at the infant stage

2. ® two years of age

3. % around one year of age

4. ® three years of age

Question Number : 79 Question Id : 50389010222 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following best expresses the opposite meaning to the given word “Discarded”?
Options :

1. ¥ retained

2. ® dismissed

3. % cast-off

4. ® disposed

Question Number : 80 Question Id : 50389010223 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is incorrect according to the given passage?

Options :

1. % The child does not develop a sense of security about the primary caregiver’s absence when it is around one year of age
2. ® Early childhood care and education is a very important area of study in Human Development

3. # The young child also begins to recognise other family members and people whom he or she meets regularly



4. % Ideally, once the child is around three years of age, the activities and experiences begin to expand
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Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % FEdt-gmr
2. % SNT-UMT
3. ¥ QIUR

4. % Hrar™

Question Number : 81 Question Id : 50389010224 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e & 9 $1H-91 Wea g5 JHY BT Ia60 o) 67
Options :

1. % wEl-grar

2. % SO

3. ¢ QU

4. % Hrar™

Question Number : 82 Question Id : 50389010225 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fEfoiad # ¥ ¢ Usg & 997 Hivle-
Options :

1. % TP

2. ¢ fbare

3. % Uphof

4. % PdDPITY

Question Number : 82 Question Id : 50389010225 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAferiad # ¥ ¢ Usq o 99 Hifole-

Options :




1. ® 9HH
2. ¢ fdhdie
3. % Uyl
4. % QXADIT

Question Number : 83 Question Id : 50389010226 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FrfIRad & @ oH-91 Weg Aoiarae 9d-m4 62
Options :

1. % g4

2. % dg

3. % DA

4. ¥ da

Question Number : 83 Question Id : 50389010226 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FAfaRad & O 3 19-91 Weg Mo w1 62
Options :

1. % gH

2. % dg

3. % DA

4. ¥ da

Question Number : 84 Question Id : 50389010227 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
5 fopanaft & o1 &1 wd wdl W & usdar g ag fbar FHed gl
Options :

1. % gpHe fohpar



2. % IR fopa
3. ¢ HHSD fopar
4. % gdpIad fohar

Question Number : 84 Question Id : 50389010227 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

51 fopansit & &1 &1 wd Hal R g usdr 8 g foar FHed gl
Options :

1. % GHHD foha

2. % IRumfe foma

3. ¥ HHSD fopa

4. ® YapIae foba

Question Number : 85 Question Id : 50389010228 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FrAfiRed # 9 SH-91 Tee "SH" 1 qaiaard Te1 82
Options :

1. % ¢lg}

2. ¥ Do

3. % O

4. % YRI

Question Number : 85 Question Id : 50389010228 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Frefefed & 9 oH-91 2ea " 1 ataard 78 82
Options :

1. % dg}

2. ¥ Do



3. % T
4. % YR

Question Number : 86 Question Id : 50389010229 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f=faRad & O SIS ad- aTel X1eq BT I BHifoTd-
Options :

1. ¢ 3FTRIGRT

2. % fREWPR

3. % g

4, % Uh=Udl

Question Number : 86 Question Id : 50389010229 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrfRad & O 31 ac! aTel Teg; BT TG PIfoTe-
Options :

1. ¢ SR

2. # fRTR

3. % s

4, % Uh=Udl

Question Number : 87 Question Id : 50389010230 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frfafad § & v &1 ey Wsg HH-91 22
Options :

1. % oy

2. % gH

3. % ot



4. ¢ 3aR

Question Number : 87 Question Id : 50389010230 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frfafad & ¥ "uur &1 faeid ss HH-A1 82
Options :

1. % Hoy

2. % JH

3. % Qi

4. ¥ 3aRR

Question Number : 88 Question Id : 50389010231 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U U ST & o1 e & 9 Ueh Wsg T I8 BITL-
fafra & sea ot 7 avg-

Options :

1. ¢ MUHID
2. % IYf&d
3. % 3MYRY

4, % 3RY

Question Number : 88 Question Id : 50389010231 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau U areiEr & forg T o Q T Xeg BT 99 PIRvTE-
fafmr & s off 71 axg-

Options :

1. ¢ 3MUfa®



2. ® 3mofsd
3. % YR
4. % IR

Question Number : 89 Question Id : 50389010232 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

=iy O 9 fov are o 31TeM SRS &1 faufad &1 ganT fasar man ge
Options :

1. % 3{fFIe 31T &1 HIS 5|

2. % I Ash Bl syl i

3. ¢ US 9 U1 AR

4. % 31 JHY TR 31 oI

Question Number : 89 Question Id : 50389010232 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fefeiad 7 2 foog o § "3iureH SR &t faHfad o1 uanT fasar mar g2
Options :

1. % 3T 3T TS B

2. % I dSh B (H3T2T T

3. ¢ Ug 4 U fR|

4, % BH Y WR 3 S|

Question Number : 90 Question Id : 50389010233 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f=fIRed & 9 Uhad--agad &1 TTad T HH-91 87
Options :

1. % g9

2. ¥ HTHAL HTHEA




3. % YAI0A
4. % TSH-ISH

Question Number : 90 Question Id : 50389010233 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frfaRad & @ Tohaa--agad &1 Tad TH HH-91 82
Options :

1. % §g-d8

2. ¢ HIHAL- HTHA

3. % [A-I0d

4. % Y&H-HSD

Question Number : 91 Question Id : 50389010234 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fEffed o T 3iR[g 91T &1 T Pifore-

Options :

1. % T3 STt 3t TR g1 S@dH | 9gd UHTad gl
2. % U 35 ST UK I PR I3 67

3. % FRORIY Sl qUS S UM B |

4. Hgd A fobdl Bl 3 1 o1 fear Sy

Question Number : 91 Question Id : 50389010234 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
feferfed # @ s a1 1 T BifoTe-
Options :

1. % T oft o TfiR gg1 e | ga yuifad gal
2. % T 3 ST TRRIH FT IR B 2

3. % FRUY B GUS AT U 5 |




4. ¢ g A fHd &l 3fex 1 9 fear S|

Question Number : 92 Question Id : 50389010235 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAEfafed O T ot & g U &1 9 Difo-
Options :

1. ¢ fUSd TR &1 Whd 9 |

2. % 0B HTAIR DI W d o+ 6|

3. % fUSA HIAaR &l Wpd 9= 8

4. % fUBA WIAAR & Wd < a1 8 |

Question Number : 92 Question Id : 50389010235 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAmfeRad & 9 a1 & g T B I Difod-
Options :

1. ¢ fUed IR &1 W6hd a9 |

2. % fUSd HIAAR $I THd §¢ e

3. % U0 HER &I $d &< g

4. % fUSA WIAIR & TG 9< g1 6|

Question Number : 93 Question Id : 50389010236 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e & 2 foa geiay o1 orf g g 82
Options :

1. % YTcH BT S|

2. % GId IS AT

3. UG & o BT

4. % gId gfaal ¥ S|



Question Number : 93 Question Id : 50389010236 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
freffed & § fbg ggrar o1 ol "o g 82
Options :

1. % YTcH BT S|

2. % GId BICIRAA|

3. ¢ THSI & ofiF g1

4. % a0 Sffcrdl § S|

Question Number : 94 Question Id : 50389010237 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrfaRad o O foa Aeifaa o1 o forer STE IeR &1 gefaa 82
Options :

1. % 3eft BIS IRt Y era, 3l firel 7 gt ura |

2. ¢ 3 ST geo ¢, e 3 3iid e |

3. % 3G BT ST A TG |

4. % JHTA Y FE, US - I R HH|

Question Number : 94 Question Id : 50389010237 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fefoRed # @ fog deifad &1 o »foreR ol Ier gt PRfiad g2
Options :

1. % 37eft BIS IR B erd, Seh firel 7 g urd |

2. ¥ 31 AU geA ¢¢, U ¢ 3i1Rd Be|

3. % 31 BT T A a9 |

4. % MM TH Y FM, Us - I R HH|



Question Number : 95 Question Id : 50389010238 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAEfaRad A T Ifad favm fag &1 994 ifoie-
3 vyH-fgda ko & A& o g &1 uanT fPar ST B |

Options :

1. ¢ O® fag

2. % 3feUfaRH forg
3. % I g

4. % drgdfav™ fag

Question Number : 95 Question Id : 50389010238 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAEfaRad # O Ifad fovm fag &1 994 ifoie-
31 vyH-fgdta iRumdes & A& o= forg &1 T fPar ST 81

Options :

1. ¢ O9® fag

2. % 3{eufdv™ forg
3. % IRl g

4. % qrgafoar™ foe

Sub-Section Number : 2
Sub-Section Id : 503890474
Question Shuffling Allowed : Yes

Question Id : 50389010239 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (96 to 100)

ffoRaa Tt &1 e gdes S HR Ul & IR SifvT-
e SR fd BT @ fAgg, AT, Heg-1-Uaur Ul TTRIAS HIaYPRl & Ufd I@TE! el 81 Yobdl | 36T Ud-ged IRH S 01h




I & Ui & 39 81 Fehdl g S Sita o YHAY Fied, Fafarqul }id SR 31fdd U & Ui & | faoa-3y & s 8 361 9w oila- &1
FIRAT IHRY § 3R 310t IHBYT ) 38 Fdd ! IRATAAT §1 faa1 B | ST o R Siia 3 a8 T ST iaT Faiied sitad-aaf
YT H-IgT P ol ST § | SHHT St @1 SMTehie HRTT Wi BT ARy g | o & B | 4 &7 S, SHERU 3R
3{eJU0T Y Bl Uahe g3 § | HEGFT Bt sNefdasdl o1 Uil #d gu +ft 3961 w1ed YR 3 & e Ay o1 ufafafer g s
T, dU,HE0 3R B H € 3RIgU & SauHf Ul & SHIgd Bl g | 31 HIod H gH A6 Hdd gl el [Hadl, 3T SHTYR TR 89 I=-
Pidd &1 woel H FyfRd S gehd 81 HikT 37 G B 3MidRes HI-HTET & | 3H HIT-A1YT 1 aTofl 1 SUfH & GohR S5
farspr dufRrar B Ui 3o Sro-war o) g 3k FaafRre Ay T Wil

Sub questions

Question Number : 96 Question Id : 50389010240 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

=iy & ¥ Swfed TR &1 3fud S S 82
Options :

1. ¢ T8l I Hrod-dhel|

2. % Ydd Pl Hod |

3. % 3neTfdrehdl Td R

4. % RIS Ud FAH |

Question Number : 97 Question Id : 50389010241 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U TR & TR, Jad! & Hrea # ef & ARETREIN
Options :

1. ® 3MIdd U

2. % JAIARUI=Y

3. % YU =Y

4. ¢ SIS, SFATRUI SR 3{&{U0T &Y

Question Number : 98 Question Id : 50389010242 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frfaa o 3 qal & wron 7 {5 yra- e &1 aroft < g 72



Options :

1. % gNT U4 I DI |
2. ¢ Yigd-HTa-T &1 |
3. % Upfa-Ar<y|

4. % fefH- UG B |

Question Number : 99 Question Id : 50389010243 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT & @ S19-91 Weg “3MThian &1 yaiarE! Tel 82
Options :

1. % e

2. % 390

3. ¢ SATDI&T

4. % pHAT

Question Number : 100 Question Id : 50389010244 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST T & STIR ot = fasa3y & w0 o B T IHRT B
Options :

1. % & Sftad

2.« I Sita

3. % goi oitad

4. % S Siia

Question Id : 50389010239 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (96 to 100)

frEfiRed e &1 eYde e B U & Ik AR
I SR fd BT &1 fA[g, AT, Hed-1-0aur auT TTRIAS HIayfirl & Ufd Same! el 81 YobdT | 361 Ud-ggd IR HI0IH




I & Ui & 39 81 Fehdl g S Sita o YHAY Fied, Fafarqul }id SR 31fdd U & Ui & | faoa-3y & s 8 361 9w oila- &1
FIRAT IHRY § 3R 310t IHBYT ) 38 Fdd ! IRATAAT §1 faa1 B | ST o R Siia 3 a8 T ST iaT Faiied sitad-aaf
YT H-IgT P ol ST § | SHHT St @1 SMTehie HRTT Wi BT ARy g | o & B | 4 &7 S, SHERU 3R
3{eJU0T Y Bl Uahe g3 § | HEGFT Bt sNefdasdl o1 Uil #d gu +ft 3961 w1ed YR 3 & e Ay o1 ufafafer g s
T, dU,HE0 3R B H € 3RIgU & SauHf Ul & SHIgd Bl g | 31 HIod H gH A6 Hdd gl el [Hadl, 3T SHTYR TR 89 I=-
Pidd &1 woel H FyfRd S gehd 81 HikT 37 G B 3MidRes HI-HTET & | 3H HIT-A1YT 1 aTofl 1 SUfH & GohR S5
farspr dufRrar B Ui 3o Sro-war o) g 3k FaafRre Ay T Wil

Sub questions

Question Number : 96 Question Id : 50389010240 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

=iy & ¥ Swfed TR &1 3fud S S 82
Options :

1. ¢ T8l I Hrod-dhel|

2. % Ydd Pl Hod |

3. % 3neTfdrehdl Td R

4. % RIS Ud FAH |

Question Number : 97 Question Id : 50389010241 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U TR & TR, Jad! & Hrea # ef & ARETREIN
Options :

1. ® 3MIdd U

2. % JAIARUI=Y

3. % YU =Y

4. ¢ SIS, SFATRUI SR 3{&{U0T &Y

Question Number : 98 Question Id : 50389010242 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frfaa o 3 qal & wron 7 {5 yra- e &1 aroft < g 72



Options :

1. % gNT U4 I DI |

2. ¢ Yigd-HTa-T &1 |

3. % Upfa-Ar<y|

4. % fefH- UG B |

Question Number : 99 Question Id : 50389010243 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frfafRed o @ HH-91 Xeg “3MTaien” &1 uaiaar Tl 82
Options :

1. % e

2. % 390

3. ¢ SATDI&T

4. % pHAT

Question Number : 100 Question Id : 50389010244 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SUYa TR & 3FTIR qerdt 3 o3y & w0 H B TR IHRT B
Options :

1. % & Sftad

2. ¢ G SitaH

3. % goi oitad

4. % S Siia

Disciplinel
Group Number : 6
Group Id : 503890266

Group Maximum Duration : 0



Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :

Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

Question Number : 101 Question Id : 50389010245 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is true?
Options :
R No=0

) % AUD=0

3 % AUA=0

Disciplinel

503890402
1

Online
Mandatory
20

20

20

Yes

1
503890475
Yes



L% ANA=0

Question Number : 101 Question Id : 50389010245 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed & @ e 9g 8
Options :
s AND=0

4. % ANA=0

Question Number : 102 Question Id : 50389010246 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is not true?
Options :

|« ABNC)=(A-B) U (A-C)

) % AAB=(A-B) U (B-A)

;3 % AAD=A

4w AAMA=A



Question Number : 102 Question Id : 50389010246 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFofefad # @ ol g8l 181 82

Options :
| % A-BNC)=(A-B) u (A-C)

, x AAB=(A-B) U B-A)

3 # AAD=A

Question Number : 103 Question Id : 50389010247 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If A N B =B holds for all sets B of the universal Set S, then
Options :

l.* A'=B

2.9 A=S

3. A=B

4. % A=p

Question Number : 103 Question Id : 50389010247 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AN B =B, U&RA® 9= s & 9 Il B & U yRUTdRar g, @ -
Options :

l1.* A'=B




2.% A=S
3. % A=B
4. % A=g

Question Number : 104 Question Id : 50389010248 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
+1

LetF:R— {1} = R— {1} defined by f(x) = R— {1} then flis-

Options :
fix )—

1. %

f‘(h}— - {1}

fl': }_.J_+1
3.9

f1(x) Rkl )
4 % .'1'—1:

Question Number : 104 Question Id : 50389010248 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Hﬁrﬁlﬁrﬁrﬂ)_— xeR— {1} carr 9Raf¥d F: R- {1} - R—{1} &,

ar f1 g -

Options :
fix )—

1. %




-1

- f‘(x}=::+1,x eR— {1}
. f'lix]lzij,x eR— {1}
3. ¢

f1(x) F RER
4 i x—1’

Question Number : 105 Question Id : 50389010249 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Letf:Z — Qdefined by f{(x) =2%, x € Z. then fis —
Options :

1. # Surjective but not injective
2. ¥ Injective but not surjective
3. # Both injective and surjective

4. ® Neither injective nor surjective

Question Number : 105 Question Id : 50389010249 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT iy fx) =21,XEZquﬁmﬁHfiz—>Q%,Fﬁ-f%—

Options :

1. % 3TBIC] fooegg Th b Tl
2. ¢ Thdb fobeq SMTesTd) T8t
3. % Uhdp g 3TBIE Al &)



4, % 1Al The AT 81 SATBIE!

Question Number : 106 Question Id : 50389010250 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A, B, C are sub-sets of the universal set Sand ifAUB =AU C
and A'UB =A' U C then-

Options :

1.¥"B=C

2.% A=B

3.9 B =C

4. % A'’=B

Question Number : 106 Question Id : 50389010250 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A, B, CHdfE® =g S, & 39T g iR A AuB=AUC
A UB=AUC &, df -

Options :

1.¥"B=C
2.% A=B
3.% B =C
4. % A'=B

Question Number : 107 Question Id : 50389010251 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A relation p is defined on a set N by “ apb if and only if a is divisible by b” for
alla,beN. Then pis—



Options :

1. ¥ Reflexive and transitive
2. % Reflexive and systematic
3. # Equivalence

4. ® Systematic and transitive

Question Number : 107 Question Id : 50389010251 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Tk {EY p §HTUT N TS TR GRenfa § “apb 16 R Faci AfG 2. b A
AT erdr. wrabeNFoT |(drpe-

Options :

1. ¥ W 3R D
2. % W 3R JHAA

3. % Jodl 49y

4. % AT SR FohTH

Question Number : 108 Question Id : 50389010252 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AIfS={1,2,3,4andf=(; 2] D g=(G 335 thenfgis—

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.

Options :

[rtes
L \231



[\]

¥ i
il =
[ I e
= L
AN
| —

iy
855D

Question Number : 108 Question Id : 50389010252 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Al 51,2, 3,3 I=( 1 )e=-G 31 DdEs-

Note: For this question, discrepancy i1s found in question/answer. So,this
question is 1gnored for all candidates.

Options :
t:2:3 4)
1. V231

ey



Question Number : 109 Question Id : 50389010253 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Let f: A — B and g: B — C be both injective mapping such that gof:A — C is injective, then

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. g is injective but f need not be

2. fis injective but g need not be

3. both f and g are injective

4. both f and g are not injective

Question Number : 109 Question Id : 50389010253 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A A £ A — B 3'ﬁ?g: BeCﬁQﬁWﬂﬁW%ﬂﬁgoﬁA—»C,?ﬁ-
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. ¢ U g fbeq £ Thh 511 B o9%d el ©

2. fUDh® § fohd ¢ B Th P I P o1 gl &

3.fTd g B Uh® §

4. f@gﬁawqﬁ%

Question Number : 110 Question Id : 50389010254 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

= is
14 x2°

The function £ R— [— % ,51 . defined as f{x) =



Options :

1. # Surjective but not injective

2. # Injective but not surjective

3. ® Neither injective nor surjective
4. ¥ Invertible

Question Number : 110 Question Id : 50389010254 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fx) = —— ZaRT TR ForeT £ R [—2,2| ¥ -

14+x2

Options :

1. % 3T=Sie foheg Uheh 51

2. % Tobdh fobeg] TSI TET

3. % I8 Uhdp SR AT & 3BT
4. ¥ FhHUIY

Question Number : 111 Question Id : 50389010255 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many elements (Permutations) in Sg commutes with ¢ =(123)(34) € S¢?
Options :

1. %2

2. %5

3.8

4. % 6

Question Number : 111 Question Id : 50389010255 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



S¢ & fohciel 37909 (FHTT) o =(123)(34) € S¢ o AT ITARTHT Fd 272

Options :
1. %2
2.% 5
3.8
4, % 6

Question Number : 112 Question Id : 50389010256 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If A, B, C, are three sets, then the Set A - (B - C) is equal to
Options :

| v @-Bu@no

) % (A-B)NcC
3 % (A-B)N(B-C)

4 % ANB-0)

Question Number : 112 Question Id : 50389010256 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g A, B, C T I &, A I=I A - (B-C) & -
Options :

v @-Bu@no



2. @ (A-B} n!C

L x @-BNE-0

4 % ANB-0)

Question Number : 113 Question Id : 50389010257 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The function £ : [0, 3] — [1, 2, 9], defined by f(x) = 2x> - 15x% + 36x + 1, is

Note: For this question, discrepancy i1s found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. One-one but not onto

2. One-one and onto

3. Onto but not One-one

4. Neither One-one nor onto

Question Number : 113 Question Id : 50389010257 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f(x) = 2x3 - 15x2 + 36x + | GRTIRHIRT B £: [0,3] — [1,2,9], 8 -

Note: For this question, discrepancy i1s found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. Thdh! R TBIEH g

2. Thd! 3R HTDBICH




3. 3TDBIEH TR~ Uh ! -Tg!
4. T E Uhap! 3R 7T &Y 3B Teh

Question Number : 114 Question Id : 50389010258 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Let A be a set of n elements and B be a set of m elements, then the total number of mapping from A to B is
Options :

|, & 0%

o, @ m°

ncm

3. %

4 % I

Question Number : 114 Question Id : 50389010258 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g A, n 3faTl &1 T 81 3R B, m 3/a9dl &1 =T 81, A A I B d% AFIH] $I Gl AT g -

Options :

| ow 0¥

o, v m°



Question Number : 115 Question Id : 50389010259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Let A be a set of 4 elements and B be a set of 3 elements, then the total number of surjective mappings from A to B is
Options :

1. ¥ 36

2. % 12

3.% 72

4. % 144

Question Number : 115 Question Id : 50389010259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

THAF B DI A, 4 3TT! BT T =T § 3R B, 3 ATl &1 Uh = 8, Al A I B ISP 3MTSTS! AHTHT BT oot T2 gRT -
Options :

1. ¥ 36

2.% 12

3.% 72

4. % 144

Question Number : 116 Question Id : 50389010260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If f: R —»R be defined by fix) =x°. x e Rthen fis —

Options :

1. * Bijective

2. * Injective

3. * Surjective

4. ¥ Not Bijective



Question Number : 116 Question Id : 50389010260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ﬂﬁf{x]=xi,xeﬂmqﬁ3?ﬁ3f:ﬂ—} RELarf—

Options :

1. % Tho! ATBIET §

2. % Thabt

3. % 3TBTEl

4. ¢ THD! BT a1 8

Question Number : 117 Question Id : 50389010261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is not true?
Options :

. ANB=BNA

, x AUB=BUA

JAU(BUC]={AUB} Ve

4. % ANA'=0

Question Number : 117 Question Id : 50389010261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed 3 3 oHar 9a 78l 82



Options :

- ANB=BNA

, x AUB=BUA
AU(BUCO)=(AUB)NC
L yAUBUO=(aUB)

4. % ANA'=0

Question Number : 118 Question Id : 50389010262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Iff: A— B beamappingand PC A, then which ofthe following is true?

Note: For this question, discrepancy is found in question/answer. So,this

question is 1gnored for all candidates.
Options :

| @) cP

ff-1 (P) = P if { is injective
2.

; @)@l

4 E@FCE®)



Question Number : 118 Question Id : 50389010262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I £ - A— B UF AFEFT & IR P c A gL o He=ei@a & @ slear
e g7

Note: For this question, discrepancy 1s found in question/answer. So,this

question is 1gnored for all candidates.
Options :

1 ffl{(P)cPp

, fFI(P)=Pafk fTHS §

, @ CEEE

4 E@FCEE)

Question Number : 119 Question Id : 50389010263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is true?

Options :

| % AX (BNC)=(AxB)U(AxC)

) % AX(BUC)=(AxB)N(A%Q)

3 % A*x(B-C)=(AxC)-(AxB)



4. (A-B)xC=(AxC)-(BxC)

Question Number : 119 Question Id : 50389010263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFofifed § 9 o a3 82

Options :

| % AX (BNCO)=(A=*xB)U(A=C)

) ® AXBUO=AxBNAx0C

3 % Ax(B-C)=(AxC)-(AxB)

4. < (A-B)xC=(A=x(C)-(B=0C)

Question Number : 120 Question Id : 50389010264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The order of the permmutation G é i é Ei g),is-
Options :

1. % 8

2.% 4

3.6

4. % 12

Question Number : 120 Question Id : 50389010264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

12 3 45 6

453512)’WW%'

e (
Options :
1. %8
2.% 4
3.6

4. % 12
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Group Marks :
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Number of Questions to be attempted :
Section Marks :
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0
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Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1
Sub-Section Id : 503890476
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 50389010265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the ratio of roots of an equation X2 - px+q=0is 1:2, then the relation between p and q is
Options :

1. * p=q

2.9 2p*=9q

3. % 9p=2g?

4. = p2 = q3

Question Number : 121 Question Id : 50389010265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfq el 2-px+q=0$rj§‘ﬁ$[3{ﬂqlﬁl :2%,(_‘ﬁp GﬁTqWW‘H%—
Options :

1. * p=q

2.9 2p*=9q

3. % 9p=2g?

4. = p2=q3

Question Number : 122 Question Id : 50389010266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If 4 be the root of the equation x2+ ax — 12 = 0, then another root is
Options :

1. ®= -2



2.% 3
3.¢¥ -3
4. % a-4

Question Number : 122 Question Id : 50389010266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

afe; FHIHROT x2 + ax — 12 = 0 BT T 4 Y, T SIRT el SN —
Options :

1. % -2

2. %3

3.9 .3

4. % a-4

Question Number : 123 Question Id : 50389010267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ifb=c = 0 in the equation ax? + bx + ¢ = 0, then the value of roots are
Options :

1. % 0,1

2.% 1,1

3.0,0

4. % 1,0

Question Number : 123 Question Id : 50389010267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
?T%ﬂ'mmaszrberc:OﬁbZCZOEﬁ,?ﬁW%Eﬁﬁ—
Options :

1. # 0,1

2.% 1,1



3.40,0
4. % 1,0

Question Number : 124 Question Id : 50389010268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the nature of the roots of this equation x2 - 24/7x — 2= 0?

Options :

1. ¥ Real, Unequal, Irrational
2. % Complex, Unequal

3. # Real , Unequal , Rational
4. ® Real, Equal, Rational

Question Number : 124 Question Id : 50389010268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FHFIOT x2 - 24/7x —2 = 0 & Hell bl Gehid FIT 57

Options :

1. ¢ 9Rdfde, M, IRET
2. % gy, 3RgHHE

3. % gRAld®, M, TRET
4. % gRAID, T, IRAT

Question Number : 125 Question Id : 50389010269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If a, b and c are real and rational and satisfies the condition a + b+ ¢ = 0, of the equation ax2 +bx+¢c=0 , then the roots are
Options :
1. ¥ Rational, Real



2. % Irrational, Real
3. % Complex
4. ¥ Not Existing

Question Number : 125 Question Id : 50389010269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
@Wax2+bx+c=0,a;a,bﬁcwamﬂﬁwma+b+c=oaﬁwmﬁ,ﬁm%—
Options :

1. v ORI, arafass it

2. % 3URHY, aRAfd BN

3. % HETY gl

4. % g TRt

Question Number : 126 Question Id : 50389010270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The roots of the equation ax’>+bx+c=0 being equal and having opposite signs can be possible only when
Options :

1. % a=0

2.¢9b=0

3.%¢=0

4. % a=b=c=0

Question Number : 126 Question Id : 50389010270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR ax? + bx + ¢ = 0 & Td JAM U4 fuiid fag & aft dya g1 Tavd g 4 -
Options :

1. % a=0

2. b=0



3.% ¢c=0
4. % a=b=c=0

Question Number : 127 Question Id : 50389010271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the addition of two roots of the equation 3x2-5x+7=0?
Options :

1 ® 5

Question Number : 127 Question Id : 50389010271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HHIDHROI 3x2 - 5x + 7 = 0?1511?1‘[67[@3@@‘11‘7
Options :

1.® 3



Question Number : 128 Question Id : 50389010272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following equations is having the roots 2 and (-3)?
Options :

.Y x> +x-6=0

2. % x2-x-6=0

3.8 x2.x+6=0

4. % x2.5x-6=0

Question Number : 128 Question Id : 50389010272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frofefad O 9 HHY IR & ga 2 3R -3 72
Options :

1.¥Yx2+x-6=0

2.% x2.x-6=0

3.8 x2.x+6=0

4. % x2_5x-6=0

Question Number : 129 Question Id : 50389010273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the subtraction of two roots is 2, of the equation 2x% - 12x + m + 2 = 0, then the value of m is
Options :

. % m=2

2. % m=7



3.m=14
4, % m=-2

Question Number : 129 Question Id : 50389010273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g THBROT2x2 - 12x + m+2=0F & el HTUCId 2§, A m BIAF G -

Options :

l.¥ m=2
2. % m=7
3. m=14
4. % m=-2

Question Number : 130 Question Id : 50389010274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If one root of any equation is (2 - 3i) (where i =-,ff—_1]|: then what is the equation?
Options :

1% x?2-4x+12=0

2.9 x24x+13=0

3.% x2+4x-13=0

4. % X2 +4x+12=0

Question Number : 130 Question Id : 50389010274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ife; el TehtoT T U A (2 - 3i) (GTET i = V—18) &, o FEeor
BT

Options :



1. % x2_-4x+12=0
2.¥ x2 - 4x+13=0
3. % x2+4x-13=0
4. % x2+4x+12=0

Question Number : 131 Question Id : 50389010275 Question Type
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

~1 3

The improper integral Jn T dx has

Options :

“ Point of mfinite discontinuity of 1,

ba | =

1.

" Point of nfinite discontinuity at 0.
2' -

B |t

3 % Point of infinite discontinuity at 0, 1

. Point of infinite discontinuity at 0

Question Number : 131 Question Id : 50389010275 Question Type
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

dx hl -

Ay gHEeE [ —

<0 2x(2x-1)

Options :

o L 36 S # g

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option



) o 05 T 3 e H g §

3_wﬁ,1wmmﬁmmﬁ'§%

4%0'4131%311413?&%‘@@%

Question Number : 132 Question Id : 50389010276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The integral [, s g

0 X

Options :

1. ¥ is convergent but not absolutely
2. # is not convergent

3. % is absolutely convergent

4. ® is absolutely divergent

Question Number : 132 Question Id : 50389010276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

J--:x:- |sinx] g

0 X

Options :

1. ¢ SRRY B fooeg gof =0 9 =78t
2. % IRER S8

3. % gul &0 9 Rt §

4. % Ul &0 Y ORI §



Question Number : 133 Question Id : 50389010277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
' oo,

The integral [, sin x dx

Options :

1. ¥ Exists and is equal to 1

2. % Exists and is equal to 0

3. # Exists and is equal to -1
4. ¥ Does not exist

Question Number : 133 Question Id : 50389010277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

?Hﬂm?-rfﬂm sinx dx —

Options :

1. % HTTH B IR ITHT A 1 8§
2. % JTIH G IR IYBTHF 0 B
3. % RII AR MR IIBTHAM-18
4. ¢ IRTIHTE B

Question Number : 134 Question Id : 50389010278 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If f(x) satisfies the requirements of Rolle’s theorem in [1. 2] and f'(x) is

continuous in [1, 2], then the value of ff f'(x)dx is:

Options :
1.¥0



2. %1
3. % -1
4, %2

Question Number : 134 Question Id : 50389010278 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T f(x) JHaRTer [1. 2] # U F THT T INaRAFAB & T AT § AR
£ (x) e [1,2) A FAd &, o [ F(x)dx FTAT§ -

Options :
1.¥0
2. %1
3. % -1
4. %2

Question Number : 135 Question Id : 50389010279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
sinx
xP

" m‘
The integral [, dx converges —

Options :

1. # Absolutely for P > -1
2. # Absolutely for P >0
3. % Absolutely for P> 1
4. # Absolutely for P =1

Question Number : 135 Question Id : 50389010279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



AR j;””;xdx SfEad 2 & -

X

Options :

. % p> | R ETY
2. % P>0 YU ETY
3. P>  RYfEuy
4. % P= | RYIEYY

Question Number : 136 Question Id : 50389010280 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
(¥4 _32 tE . :
fﬂ e dt is equal to:

Options :
VI

1;333

VT

4\-'/23

Question Number : 136 Question Id : 50389010280 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



742
|y e ¥t dtFATE-
Options :

NTE

13333

4\_\_/23

Question Number : 137 Question Id : 50389010281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If f is Riemann integrable with respect to o on [a, b], then:
Options :

1. ¥ fis bounded and a is increasing function

2. % fand o are both bounded

3. # fis increasing and a is bounded function

4. # fand a are increasing

Question Number : 137 Question Id : 50389010281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e £, 3IARTH [a, b] W o & a8 H T IHIG A g, -

Options :

1. ¢ fUREg § 3R o Th YA B &



2. ® fﬁ?aaﬁ:ﬁm%
3. % rgdAM § 3R o Th UNEg B §
4. % £3R o IfAT T

Question Number : 138 Question Id : 50389010282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following is not correct on an interval [a, b]?
Options :

1. # Every integrable function is bounded

2. ¥ Every discontinuous function is integrable

3. ® Every continuous function is integrable

4. ® Every continuous function has a primitive

Question Number : 138 Question Id : 50389010282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SIRTe [a, b] H FfeiRad & @ 1 el 981 22

Options :

1. % YD GHIGAMY o URES &
2. ¢ UAP 3Edd o GHIGA-T §

3. % H(’acb {'idd A {'IJ-IIObﬂ"InICI%

4. % YAH Hdd e &I Uh JavT aidl §

Question Number : 139 Question Id : 50389010283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Let f:[a.b] = R and P and Q are partitions of [a. b] such that Q C P. Then—

Options :
| % U@DH2U@D



, % U@DHIL@D

, v L@HIUQD

Question Number : 139 Question Id : 50389010283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HieT STl #T £ [a. b] = R Ud P 3R Q 3aWe [a. b] sk Eerraiet (k) & o
FQCP. dr-

Options :
|« U@D>UWQD

, x URDHSL@QD

, wL®DHIU@QD

Question Number : 140 Question Id : 50389010284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The value of definite integral f_aalxl dx is equal to:



Options :
1. * 2a
2. ¥ a2
3.0

4. % g

Question Number : 140 Question Id : 50389010284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ICIECG R ET fﬂlxldx FT AL &

Options :
1. ® 2a
2.9 a2
3.0
4. % a

Discipline3
Group Number : 8
Group Id : 503890268
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
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Discipline3



Section Id : 503890404
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Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
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Sub-Section Id : 503890477
Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 50389010285 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If x = 3+ 32/3 4+ 313 then find the value of x3- 9x2+ 18x — 12

Options :

Question Number : 141 Question Id : 50389010285 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Ifex=3+32/34+ 338 arx3-9x2+ 18x — 12 T AT 9T —

Options :
1

1. % 2

Question Number : 142 Question Id : 50389010286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the values in ascending order 263, 343, 527, 18
Options :

| % 263: 5_75 613, 343

% 51?:5185 263_‘ 343

3 % 3-13': 51?32635 ple

4 6IS: 5173263: 343

Question Number : 142 Question Id : 50389010286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

263343 527 612 o AT &l ARG 0 A cadieed $liard —

Options :

L% 263: 5275 613, 345
T7T 3 j

" 5_.:5185 26 : 34

3 % 3-13'5 517521535 ple

4 6IS: 51732635 343

Question Number : 143 Question Id : 50389010287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If 3* + 3¥ = 4, then the value of 3* + 3¥1is -

Options :



Question Number : 143 Question Id : 50389010287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfg 35+ 3y = 4 &1, AT 3= + 3-Y T A BlET—

Options :

Question Number : 144 Question Id : 50389010288 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

[5+1 = .
Ifx= W-E l,then‘th:-:- value of x* - x-11is -
J5—
Options :
B
1. # 2
2
2



Question Number : 144 Question Id : 50389010288 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

a‘ﬁx=dE$?a?13 1 ST HIeT 11T -

Options :

Ead | =

Question Number : 145 Question Id : 50389010289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the argument of this complex number (1 + 1) (\.@ = 3 i):
Options :

om

1\_"‘/12



=

Question Number : 145 Question Id : 50389010289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

GIEAA EEAT (1 +1)(V/3 + 1) ST I § —

Options :

om

1\_"‘/12

N

Question Number : 146 Question Id : 50389010290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If w be a cube root of 1. then what is the value of (1 — w)(1 — w?)(1 — w*)(1 — w®)?



Options :
1.¥9
2. %8
3.% 7
4. % 1

Question Number : 146 Question Id : 50389010290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I w, L FTHAAA 6. dl (1 — ) (1 — 0?)(1 — w*) (1 — w®) T HIT FT?

Options :
1.¥9
2. % 8
3.% 7
4. % ]

Question Number : 147 Question Id : 50389010291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Complete the series:
343 o o o ,48

Options :

1. % 36.4,39.8,42.6, 46.2
2.9 36.8,39.6,42.4,45.2
3. % 36.9,39.7,42.6, 46.8
4. % 37.0,39.9,43.1,46.2

Question Number : 147 Question Id : 50389010291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&t Tt oft 1 qRI B -



4, ., ., 48
Options :

1. # 36.4,39.8,42.6,46.2
2.9 36.8,39.6,42.4,45.2
3. % 36.9,39.7,42.6, 46.8
4, % 37.0,39.9,43.1,46.2

Question Number : 148 Question Id : 50389010292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If 5, x, 405 is in G.P., then what is the value of x?
Options :

1. ¥ +45

2. % 45

3. % 15

4, % 145

Question Number : 148 Question Id : 50389010292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfa 5, x, 405 TOMR JU7 T BI Al x BT T T GRI?
Options :

1. ¥ +45

2. % 45

3. % 15

4, ¥ 145

Question Number : 149 Question Id : 50389010293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



If the multiplication of two roots is -3, then what is the value of ‘b” from this
equation 2xZ-7x +b =10

Options :

3w

4. % 70

Question Number : 149 Question Id : 50389010293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
gfe ar Hell #1 IO -3 8, ol FHAHOT 2x2- Tx +b =0, # ‘b’ & A &1
BIaTT?

Options :



4. % 10

Question Number : 150 Question Id : 50389010294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ifin~1p, ;:&-1p_=3 : 5, then find the value of n.

Options :
1. % -4
2.9 4
3.%5
4, %3

Question Number : 150 Question Id : 50389010294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfg m+1p, ;:W-1p_=3:5 &, Al n T AT 89T —

Options :
1. % 4
2.¥ 4
3.%5
4, % 3

Question Number : 151 Question Id : 50389010295 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If a_b. ¢ are positive real numbers then the least value of 2 :h + h: S s ; % is:

Options :



1. %5
2.¥6
3.%2
4. % 1

Question Number : 151 Question Id : 50389010295 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

afe a:b:cumma?aﬂ-—dﬁa?mﬁ%ﬂa‘rf"+":“+“? ST 2T AT 2191 -

Options :
1. %5
2.9 6
3.% 2
4. % 1

Question Number : 152 Question Id : 50389010296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the arithmetic-mean of the two numbers a and b (a, b > 0) is five times their geometric

a+b.
mean. then—bm equal to:
=

Options :
5 '.,."'E

1. ¥ 12

743

2 % 12

[#%]
o
ra]



Question Number : 152 Question Id : 50389010296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ife g1 HEATT a IR b (a, b > 0) T HATR AL, 3Feh A0 AL o 9id AT Bicll
&t 5 T A gl

Options :
5‘.,.'%

1.+ 22

743
2. % 12

Question Number : 153 Question Id : 50389010297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



If a. b are positive real numbers and a + b =4, then the minimum value of
2

(a +§)2 +(b+3) ison

Options :

3.¢

Question Number : 153 Question Id : 50389010297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

. : 2 2
AT 2, b HeTeHE A s G gl a+b=4 8. (a+3) +(b+3) &
STAH A § —

Options :
5

] & 3

N
¥
leﬁ



3.

Question Number : 154 Question Id : 50389010298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If m is the AM (Arithmetic-Mean) of two distinct real numbers landn (1. n> 1) and

Gi. Gy and G are their geometric means between 1 and n, then G‘% + ZGg-i- Gg
equals:

Options :
N
L& 4lm-n

5 % 414mn

-+

3 % 4Pmin’

4% 4lmn-

Question Number : 154 Question Id : 50389010298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ot m. g e aeafasr et 1 3o (Lo > 1) T @A AT g 3K G, 6
and Gs, 179 n o o1d 3eTehT ATk A 81, ar G + 2G5 + G FrHM= gam -



Options :
L 41lm-n

5 % 414mn

3 % 4Pmin?

4% 4lmn-

Question Number : 155 Question Id : 50389010299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If p2+g?=1and m? +n? =1 then-
Options :

| % lpg + mn| =1

, % |pg—mn|<2

3 % [pm + gn| =1

. |pm + gn| <1

Question Number : 155 Question Id : 50389010299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



e p2+qi=13Rm?+n2=1.d1-

Options :

| % lpq + mn| > 1

o ® [pg —mn| < 2

- [pm +gn| =1

4 lpm+gn| <1

Question Number : 156 Question Id : 50389010300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If |a] < 1, |b| < 1, then which of the following is correct?

Note: For this question, discrepancy is found in question/answer. So,this
question 1s 1gnored for all candidates.

Options :
1 la—b| > |1 + ab|
5 la—b| > |1 + ab|

; la—b| = |1+ ab]

4 |la+ b] = |1+ ab]



Question Number : 156 Question Id : 50389010300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I |al < 1,|b] < 1§ S RR@a g slaaraere?

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1 la—b| > |1 + ab|
) la—b| > |1 + ab|

3 la—b| = |1+ ab]

4 |la+ b] = |1+ ab]

Question Number : 157 Question Id : 50389010301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If a. b, c are positive real numbers and 2a + 3b + 6¢ = 3, then the minimum value of
a?+b2+ clis:
Options :
7
1. % 42



2. 49

Question Number : 157 Question Id : 50389010301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T a. b, c UeATCHS dEdide GEATCE 3T 2a«3b+6c =3¢ dral+ b2+ 2 &l
el clH HIeT ¢ —

Options :

7
13‘,349

2. o 49

Question Number : 158 Question Id : 50389010302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Sk -
For any two positive numbers a and X, least value of ax + meLE

Options :

].% @

Question Number : 158 Question Id
Orientation : Vertical

: 50389010302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25

ferelt & ereticais HEamsil a A x, AT ax + > HT s gATH ART -

Options :

] % @

Question Number : 159 Question Id

: 50389010303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

If a, b, c are positivereal numbersand all arenot equal. and a+ b +c¢ =1 then the least

value of G — 1)2 (lh — 1)2 G — 1)2 18-

Options :
1. ¥ 64
2. % 16
3. % 80
4, % 32

Question Number : 159 Question Id : 50389010303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IfE a. b, ¢ TATCHS dEdideh A0 § AR Tl AT AAg 8, AiRa+b+c=1¢.al

1 2

2 2 44 2
C-1) G-1) C-1) Fregeremam
Options :

1. ¥ 64

2. % 16

3. % 80

4. % 32

Question Number : 160 Question Id : 50389010304 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the product of n positive real numbers a.a;.as....... an1s unity. then their
sum is:

Options :

1. # Divisible by n



2. % A positive integer
3. ¥ Never less than n
4. % Equal to n?

Question Number : 160 Question Id : 50389010304 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If the product of n positivereal numbers a;.a;.4a;....... a, 18 unity. then their
sum is:

Options :

1. % n@[ﬁ"-ﬂ@%

2. % TP GHRIAD YUl §
. v et in AP TR B

4. % n2 % FHM

Discipline4
Group Number : 9
Group Id : 503890269
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No

Discipline4

Section Id : 503890405



Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 503890478
Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 50389010305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The hyperbolas x? — y2 = a? and xy = ¢?
Options :

1. ¥ Intersect orthogonally

2. % Intersect but not orthogonally

3. # Do not intersect

4. ¥ Meet at imaginary points

Question Number : 161 Question Id : 50389010305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HaREaTT x2 —y? = a? HT xy = 2

Options :

|. ¢ d99d ¥U J Hlcd &

2. % Pled @ W dddd ¥U I g
3. % Hled T8l ©

4. % HlU® fdgei W iad §




Question Number : 162 Question Id : 50389010306 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The locus of the middle points of the parallel chords of a parabola is -
Options :

1. ® A straight line passing through its vertex

2. ¥ A straight parallel to the axis of the parabola

3. ® A directrix

4. ® A straight perpendicular to the axis of the parabola

Question Number : 162 Question Id : 50389010306 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T%h WRATT & GHIGR SiaTd & b<1d-fogal o1 fdg-uy g -
Options :

1. % IYdh IWTAT Y TR dTelt Ueh TR Xl

2. v TRAAY o 3{&f Y ToRA dTel IR FHIR

3. ® TP [Tl (directrix)

4, % IRAGTT b &l Y oIk dTell Udh IR dadd

Question Number : 163 Question Id : 50389010307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the straight lines y = mx andy = m'x be a pair of conjugate diameters of an ellipse
2 2

x—g g L 1, then-

a b?

Options :
r__ a“
mm = 3::_2
1.



2. % 3
mm’'= 2
3.8 -p
' b?
i = ——
4. a®

Question Number : 163 Question Id : 50389010307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
iy . ‘s . ﬁ ¥
Ife |eT T@IHT y = mx my—mhaﬁﬁ_ﬁ'ag F

T = 1, % UYH W ¥ W13
g.dr-

Options :
i a”
mimn = b_z
1. ®
,_ b?
mm = =
. a
2. %
a2
mi = _b_z



Question Number : 164 Question Id : 50389010308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The equation 3x? + 2xy + 3y® — 16x + 20 = 0 represents -

Options :

1. # A parabola
2. ¥ An ellipse
3. % A circle

4. # A hyperbola

Question Number : 164 Question Id : 50389010308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FHIOT 3x2 + 2xy +3y2 — 16x + 20 = 0 Z2TET & -

Options :
1. # U R

2. ¥ U g
3. % YD g
4. % U ffdURIT

Question Number : 165 Question Id : 50389010309 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



- ; 1
The eccentricity and semi-latus mectum of the curve == 8+ bcosB are
respectively —

Options :
= 8

N

S
W
[

==

@l

|

Question Number : 165 Question Id : 50389010309 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T~ = B + 5050 Scheadl U5 ITL-ATTC AT HHY: § -

Options :

| EsLind
| % 8

|
[F= T

2.9

=T
w e



Question Number : 166 Question Id : 50389010310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The diameter of the parabola X2 = 4ay is parallel to-
Options :

1. ¥ y'- axis

2. ® x'-axis

3. % A line equally inclined to co-ordinate axis

4. # The straight liney + 3x =0

Question Number : 166 Question Id : 50389010310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

WRITAT x2 = day BT AT JHR § —

Options :

1.V y- 3& 9

2. % X3

3. % T @ 9 S et & e wu A vfowfed
4. % WAy +3x=09

Question Number : 167 Question Id : 50389010311 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The equation of the diameter of the ellipse 3x* + 4y? = 5 conjugate to the diameter
v+ 3x=0 is-

Options :

1. % 3y—-x=0



2. % y—4x=0
3.9 x-4y=0
4. % y-3x=0

Question Number : 167 Question Id : 50389010311 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

GFed 3x2 + 4y? = 5% OTH, A SATHy + 3x = 0 FTHYTH g H GAFOTE -

Options :

1. % 3y—-x=0
2.% y—4x=0
3.9 x-4y=0
4, % y-3x=0

Question Number : 168 Question Id : 50389010312 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

For what value of a, the equation axy - 8x + 9y — 12 = 0 represents a pair of straight lines?
Options :

1.¥a=6

2. % a=0,6

3.%a=0,2

4. % a=0

Question Number : 168 Question Id : 50389010312 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

THIHR axy - 8x + 9y — 12 = 0 H a BT HIF T ST IS O B1 I8 Ueh WA YW13HT T JiH =2
Options :

1.¥a=6



2.%2a=0,6
3.%a=0,2
4. % a=0

Question Number : 169 Question Id : 50389010313 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The equation of the bisectors of the angle between the lines x? — 4xy —y? = 0 is -
Options :
| % x?—y?—2xy =10

- X —y?+xy=0
;o XX —yi—xy=0

L% 2% —2y*+xy =0

Question Number : 169 Question Id : 50389010313 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

@I x% —4xy —y> = 0 & & FIT F THGSHATAF T TAHIOT 1T -

Options :
| x X*—y’—2xy=0

5 X2 —y*+xy=0



3 % X°—y*—xy=0

2% —2y*+xy =0

4, %

Question Number : 170 Question Id : 50389010314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the eccentricity of parabola X2 = 4ay?
Options :

2

7

[

|

Question Number : 170 Question Id : 50389010314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraffad o ¥ Wadd x2 = 4ay BT Icb-gdl R 82

Options :



=1 | b

b |

k3| L

Question Number : 171 Question Id : 50389010315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A solution-curve of the equation xy' = 2y, passing through (1, 2) also passes through
Options :

1. % (24,5)

2.9 (0,0)

3. % (4,12)

4. % (2,3)

Question Number : 171 Question Id : 50389010315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

THIHRUT xy' = 2y BT §A-ah, Sl 1 (1, 2) W ToR T8 1 oRaT g -
Options :

1. #® (24,5)

2.9 (0,0)

3. % (4,12)



4. % (2,3)

Question Number : 172 Question Id : 50389010316 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The singular solution of p = log(px - y) is

Note: For this question, discrepancy is found in question/answer. So,this

question is 1gnored for all candidates.
Options :

l.y=xlogx-1

2.y =xlogx

3.y=x(log-1)

4.y=logx-1

Question Number : 172 Question Id : 50389010316 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

log(px - y) T fafR1E et (RITeR o) & -
Note: For this question, discrepancy i1s found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

l.y=xlogx -1

2.y =xlogx

3.y=x(log-1)

4.y=logx-1

Question Number : 173 Question Id : 50389010317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The singular solution of (xp—y)* = p* — 1, wherep = g is -

Options :
| x> gt =3
2¢HE wr=y
3 % x2—y2=2
4 % xZ+y2=1

Question Number : 173 Question Id : 50389010317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

xp-y)?=p>—1, 5@ p="" &.F RfEre g7 (ReR Topme) &

Options :
L% x24+y2=2
rw Xy =1
ok Xy =2

x*+y?=1



Question Number : 174 Question Id : 50389010318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which one of the following is a solution of the differential equation

(&) 42—y =1

dx x_

Options :

2 o~
5 % v —4x =10
3¢ Y=x+1
42 Y=E—1

Question Number : 174 Question Id : 50389010318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ﬁmﬁﬁaﬁﬂmmm[g)zmg—y:nmﬁm

Options :

yZ—4x=10

2. %

3¢ Y=x+1



4 x T=TT

Question Number : 175 Question Id : 50389010319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The differential equation ydx - 2xdy = 0, represents
Options :

1. ¥ A family of parabolas

2. % A family of catenaries

3. ¥ A family of straight lines

4. % A family of circles

Question Number : 175 Question Id : 50389010319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Wﬂmydx - 2Xdy20m%—
Options :

1. ¢ ATl & U $d

2. % HETN & TH Hd

3. % TR XGM37 & Th Do

4. % gl & Th B

Question Number : 176 Question Id : 50389010320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the equation Mdx + Ndy = 0 has one and only one solution, then the number of integrating-factor is
Options :

1. # Two

2. % One



3. ¥ Infinite
4. % Finite

Question Number : 176 Question Id : 50389010320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i YHHI Mdx + Ndy = 0 BT U 3R Had U ol 84 g, al GHIDH e 00! &l BT | -
Options :

1. % Q

2. % Uh

3. ¢ 3Fd

4. % ORI

Question Number : 177 Question Id : 50389010321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is not an integrating factor to the equation xdy — ydx = 07
Options :

1

=

N
#
Y

| =




Question Number : 177 Question Id : 50389010321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FHFRIOT xdy — ydx = 0 FT FHHT FHFAS Y0TH gl g7

Options :

1
1. % 2

Question Number : 178 Question Id : 50389010322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
| : dy) .
The solution ¥ = 0 of the equation 9yp® + 4 = 0, (p = d—i) is —

Options :

1. # Nodal-locus

2. # Singular solution
3. % Tac - locus

4. ¥ Cuspidal - locus



Question Number : 178 Question Id : 50389010322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
THEROT 9yp? +4 = 0, (p=T) FERAy = 0 &~

Options :

1. % S UY

2. % fafRiy g
3. % WRifdguy
4, ¢ SHIITUY

Question Number : 179 Question Id : 50389010323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The p — discriminant does not contain one of the following:
Options :

1. ¥ Nodal-locus

2. % Envelop

3. % Tac - locus

4. % Cuspidal - locus

Question Number : 179 Question Id : 50389010323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
p-fafderan ® fAafeied & € w1 IufRyd =81 gianr
Options :

1.¥ ATy

2. # TATay

3. % WX fig-uy

4, % JYIIUY



Question Number : 180 Question Id : 50389010324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
The integrating factor of the differential equation xp —y = x cosx is
Options :
1

lueE

(N

2.4 &

Question Number : 180 Question Id : 50389010324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3BT FHIB xp — y = x cosx BT JHIHET UM § —
Options :
5
ex

1. =

(N

2.4 &
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Question Number : 181 Question Id : 50389010325 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

If A is an idempotent matrix and A + B =1, then B is:
Options :

1. # An involuntary matrix

2. % An idempotent matrix

3. % A null matrix

4. % A nilpotent matrix

Question Number : 181 Question Id : 50389010325 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ZlﬁAWW(Idempotent) \}ﬂal_s'%\}ﬁ?AJrB =I,?‘hB%—
Options :

1. % U 3P 3{IYg (involuntary matrix)

2. ¥ TH T TG

3. ¥ Udh Y g (null matrix)

4. % Uh Q]quﬂ?ﬁ 3{g (nilpotent matrix)

Question Number : 182 Question Id : 50389010326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If A and B are idempotent matrices of same order, then AB is idempotent matrix if and only if:

Options :

1.% AB=0

2. % AB+BA=0
3.% BA=0

4. ¥ AB=BA

Question Number : 182 Question Id : 50389010326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i A 3R B YAH I & a¥OH MIE B, A AB Th aFqH ATHE &l Jobdl 5, Afe 3R Haa afg -



Options :

. % AB=0gldl

2. % AB+BA=08Idl
3. % BA=0@Idl

4. AB=BABIdl

Question Number : 183 Question Id : 50389010327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

5 -8 0
M= 3 5 0 |thenMis—

1 2. =X
Note: For this question, discrepancy is found in question/answer. So,this
question 1s 1gnored for all candidates.

Options :

1. Involuntary
2. Periodic

3. Nilpotent
4. Orthogonal

Question Number : 183 Question Id : 50389010327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

-5 -8 0
ZI‘E*M=( 3 5 n):a‘rm?—
1 2 —1

Note: For this question, discrepancy is found in question/answer. So,this
question 1s 1gnored for all candidates.



Options :

1. 35 (involuntary) 3Iog
2. e (periodic) 3IYg

3. qu"'-ﬂﬁﬂ (nilpotent) 3HIYg

4. D (orthogonal) HTYg

Question Number : 184 Question Id : 50389010328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If A and B are orthogonal matrices and det(A) + det(B) = 0 then (A + B) is a
Options :

1. ¢ Singular

2. # Idempotent

3. * Non-singular

4. % Orthogonal

Question Number : 184 Question Id : 50389010328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g A 3R B TS Mg B 3R det(A) + det(B) = 0, A (A+B) & -
Options :

1. ¥ Wﬂﬂ(singular) e

2. % IOy (idempotent) 3{[Yg

3. % ‘o’gﬁﬁmﬂﬂ (non-singular) 3TYg

4. % qIE® (orthogonal) AHTHg

Question Number : 185 Question Id : 50389010329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
For what value of A, the system of equation 3x + 2y + z= 10, 2x + 3y + 2z =10, x + 2y + Az = 10 is inconsistent?
Options :



1.* 1.3
2.% 15
3.4 14
4. % 1.6

Question Number : 185 Question Id : 50389010329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe BN &b BT 3x + 2y + 2 = 10, 2x + 3y + 2z = 10, x + 2y + Az = 10 AT MBI I I, L BT A &1 G2
Options :

1.* 1.3

2.% 1.5

3.4 1.4

4. % 1.6

Question Number : 186 Question Id : 50389010330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The skew symmetric determinant of odd order is
Options :

1. % -1

2.¥0

3.% 1

4. # Square of a polynomial function of its elements

Question Number : 186 Question Id : 50389010330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
favy #ife & favy Tuftg IRe (skew symmetric determinant) T HIq ST —

Options :
1. % -1

2.40



3. % ]
4. % IYdb Iyl & IgUE e bl ail

Question Number : 187 Question Id : 50389010331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If A and B be two 4 x 4 non-zero matrices such that rank(A) = 2, then rank(BA) cannot be:

Note: For this question, discrepancy is found in question/answer. So,this

question is 1gnored for all candidates.
Options :

1.4

2.1

3.3

4.2

Question Number : 187 Question Id : 50389010331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g A 3R B A1 4 x 4 LTAR ATTE Y, O b rank(A) = 2, @ rank(BA) HT AF Tl g
Note: For this question, discrepancy is found in question/answer. So,this

question is 1gnored for all candidates.
Options :

1.4

2.1

3.3

4.2

Question Number : 188 Question Id : 50389010332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

IfA = (Eéa _é]) and AdjA = AAT, then 5a +b is equalto:

Note: For this question, discrepancy is found in question/answer. So,this
question 1s 1gnored for all candidates.

Options :
1.4
2.5
3.-1
4.13

Question Number : 188 Question Id : 50389010332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IfEA = (%a _éj) T AA = AAT, , &Y 5a+ b HT AT &N

Note: For this question, discrepancy is found in question/answer. So,this
question 1s 1gnored for all candidates.

Options :
1.4
2.5
3.-1
4.13

Question Number : 189 Question Id : 50389010333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rank of singular matrix of order 5 can be at most



Options :
1. %5
2. %2
3.%3
4. ¥ 4

Question Number : 189 Question Id : 50389010333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Teh fhHUNY AT oIl Bife 5 8, I Silfel 3ifpaH RREGIGS
Options :

1. %5

2. %2

3.%3

4. ¥ 4

Question Number : 190 Question Id : 50389010334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If A and B are orthogonal matrices then (g g) 18-

Options :

1. * Symmetric

2. % Singular

3. ® Skew-symmetric
4. ¥ Orthogonal

Question Number : 190 Question Id : 50389010334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



ot A 3B enfFaF sregg AL ar (5 O) @

Options :

1. % A (symmetric) 3TUG

2. % HHUUIY (singular) TG

3. % fouH 9Ufid (skew-symmetric) TG
4. ¢ D (orthogonal) 3HTHg

Question Number : 191 Question Id : 50389010335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If LCM and HCF of two quadratic equations are (x* + 2x% - x - 2) and (x + 2)
respectively then, the equations are -
Options :

| % X¥*-3x+2andx*-x-2

5 J};3+3x+2 andx2+x-2

3 % x24+3x+2andx2+x+2

x2-3x+2andx?+x-2

Question Number : 191 Question Id : 50389010335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Gl gfaEnd TR & eedH Farddcd AT Agedd THTIdcs HHT: (x* +2x1-x - 2)
IR (x+2) 8, AT gHEOT g -



Options :
| x x2-3x+23Rx2-x-2

s o X2+3x+23Rx2+x-2

5 x ot 2aiad e

4 % X2-3x+23RTx2+x-2

Question Number : 192 Question Id : 50389010336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two quadratic equations f(x) and g(x) are havingGCD. and LCM (x° +x-2)and
(x*+ 3% - 3x? - 7Tx + 6) respectively.

If f(x) = x* + 4x? + x - 6, then what is the value of g(x) -

Options :

| % x*-3x-2

5 % x3-3x2-2

; % X2-3x2+2

5 43
4'\;/3: 3x+2

Question Number : 192 Question Id : 50389010336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

&l et FHIERUT £(x) 3T g(x) o H1d 31eTeh 3R STH FATIacd hae:

(x2+x-2) AR (x*+3x-3x2- Tx +6) &.

TG fix) = %3 + 4x2 + x - 6.7 g(x) T AT T —
Options :

| % X-3%x-2

3 -%w2 9
X' -3x--2
2‘33

; 8 X -3x2+2

e ]
4.\.?,:{ X+ 2

Question Number : 193 Question Id : 50389010337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is false?

Note: For this question, discrepancy is found in question/answer. So,this

question is 1gnored for all candidates.
Options :

If m_n are integers_ the equations x*- 1 =0 and x® - 1 =0 have no common root
| except 1.



) If o  be any root of x® - 1 = 0 then a™ is also a root. where m is integer number.

If n. be prime and o be an imaginaryrootof x* - 1 =0 then 1, o, o?,..... o®! are the

3 rootsof x2-1=10

If d be the G.CD. of m and n. the common roots of x™ - 1=0and x®- 1 =0 are
roots of x¢ - 1 = 0 conversely.

Question Number : 193 Question Id : 50389010337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofRed # 3 ST o ed 82
Note: For this question, discrepancy is found in question/answer. So,this

question is 1gnored for all candidates.
Options :

TG m, 0 qUITE &, A FHOT x= - 1 = 0 3R x= - 1 =0, % 1 FISE AR TS
| SIS AT ARl

2. aﬁoc__ %3 _ ] =D:$[E|ﬂé'ﬂﬂiﬁﬁg’[:a‘[am ﬁwﬂﬂm GIETmW‘{_UﬁEF%

T7E n, AT T 3T o, GHARIOTxx - 1 = 0 F FTeA A AT gL Al 1, oc, o, ocwl
, AR EHFI - 1=0F

Ie m IR n & T1d a7oh d 8 o WA x= - 1 =0 3R x*- 1 =0 F 33 A6

, T xI-1=0FFAGE



Question Number : 194 Question Id : 50389010338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If x® — px* + r=0 is having equal roots, then relation between n, p and r is -
Options :

| e i = 4pn(11 - 2}11-2

, % O 1 =4p(n-2)*!

5 % DOIRS= 4p(n-2pm

4 % nﬂ-: -rIl-l = .:'I_pﬂ(ﬂ = 2}11-:

Question Number : 194 Question Id : 50389010338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T x= — px2 + r= 0 % TATT JA &1, A n, p A 1 F Fr=r G gram -

Options :
| v DR =4pi(n - 2)-2

, % O 1 =4p(n - 2)!

; % DOIR= 4pn-2pm



4 % nﬂ-: 1-11-1 — .:'I_pﬂ(ﬂ = 2}11-:

Question Number : 195 Question Id : 50389010339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sum of coefficients of integral power of X in the binomial expansion of
(1-24/x)0s -

Options :
l[gfﬂ_ 1}
1. ® 2
HICEES)
2. % °
S
~(3%0+1
3. ¢ 2( :
1 339
4. % 2

Question Number : 195 Question Id : 50389010339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
(1 -2v2)% Fefaue FGR # x & =l UITehl & I[UTIRI I AT ZHIT —

Options :
1 a0
= (3°9-1)



Question Number : 196 Question Id : 50389010340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the polynomial 8x* - 2x* - ax? + bx - 3 is divisible by 2x* + x -3 _then the value of
a and b are respectively-

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1.-8 and -5

2.10and 13

3.8and 5

4.-13 and -10

Question Number : 196 Question Id : 50389010340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TG 959G 8x* - 2x7 -ax? +bx -3, 2x? +x -3 o farea gr ara 3 b 1 Feren: A



Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1.-8 3R -5

2.10 3R 13

3.8 3R 5

4.-13 3R -10

Question Number : 197 Question Id : 50389010341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is an example of a polynomial equation not having any real roots?

Note: For this question, discrepancy is found in question/answer. So,this
question 1s 1gnored for all candidates.

Options :
1.0=

L X 0=0

2. }i‘q +7=0

3.y-x+4=ﬁ

Question Number : 197 Question Id : 50389010341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fafaRed o 9 ST U foF1 arafd® i & 9gUe JHIHRUI BT IaIeT 82
Note: For this question, discrepancy is found in question/answer. So,this
question is 1gnored for all candidates.

Options :
4.0=

L X 0=0

2. H3 +7=0

3.y-x+4=ﬁ

Question Number : 198 Question Id : 50389010342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Let P(x) be a quadratic polynomial such that P(0) = 1. If P(x) leaves remainder 4 when divided by x - 1 and it leaves remainder 6 when divided
by x + 1, then

Options :

1. ®# P(-2)=11
2. ¥ P(-2)=19
3. % PQ)=11

4. % P2)=19

Question Number : 198 Question Id : 50389010342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A A % Px) T fgamd sgue §, R &t p(0) = 1 8 | T P(x) BT x-1 T FaHTRIG 537 TR A9 4 |1 § 3R x + 1 9 fauifora &
R AYH 6 IgdT 5, Al



Options :

1. % P(-2)=11
2.9 P(-2)=19
3. % PQ)=11
4. % P2)=19

Question Number : 199 Question Id : 50389010343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If b > a, the equation (x - a) (x - b) =0 has

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. One root in (-o0, a) and other in (b, o)

2. Both roots in (-, a)

3. Both roots in (b, ©)

4. Both roots in (a, b)

Question Number : 199 Question Id : 50389010343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i b > a B, ) THIDHT (x - a) (x - b) = 0—
Note: For this question, discrepancy is found in question/answer. So,this

question is 1gnored for all candidates.
Options :

1. T TP Jd (-0, a) T & 3R AT (b, 00) H

2. H G g (-0, a) H B

3. P EHIHA (b, 0) AR

4. F AN YA (a,b) H R



Question Number : 200 Question Id : 50389010344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The value of b, if x* - 5x? + 4bx + 3 be divisible by (x - 3). is -

Options :
2

I

| =

e
#
| w

b
S
|

Question Number : 200 Question Id : 50389010344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IfE x* - 5x2 + 4bx + 3. (x - 3) U =T gt &t b FT AT e -

Options :
2

1.2'.35

| =
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Question Shuffling Allowed : Yes

Question Number : 201 Question Id : 50389010345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The equation(x-a) +(x-b)y +(x-cf+ (x-d)’ =0, where a, b, c, d are positive
and not all equal, has-

Options :

1. ¥ Only one real root

2. # Two real roots

3. # No real root

4. % All roots are equal

Question Number : 201 Question Id : 50389010345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AT (x - a) + (x - b + (x - )+ (x - dF = 0, F&T a. b, ¢, d YATH® HR

Options :

1. ¥ ®1 TP & IRAfad gdl &
2. % & G ARG o &

3. % B D3 ARAdD Jd el &
4. % % IR Id GAH §

Question Number : 202 Question Id : 50389010346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The polynomial ax® + bx + ¢ is divisible by x* + px + 1 if:



Options :

1 % ac = b?

. b*—-cl=3ab

2. %

3 » @@ tb=ac

4 ¢ @ —ct=ab

Question Number : 202 Question Id : 50389010346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

H?Eﬂ3+bx+cﬁmmxl+px+lﬂ',uﬁ:

Options :
| % ac=Db?
) % b —cl=ab

3 % a8 tbh=ac

4 al —cl=ab

Question Number : 203 Question Id : 50389010347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The remainder when 4x* — 10x2 + 1 is divided by (x + 2) is:



Options :
1. %2
2. % 32
3. % 24
4.9 25

Question Number : 203 Question Id : 50389010347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tl ax* — 10x2 + 1 DI (x + 2) T TayTfoid fovam S af Qo d g —
Options :

1. %2

2. % 32

3. % 24

4, 25

Question Number : 204 Question Id : 50389010348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1
The rate at which the radius of a sphere changes over time is o When the radius
T

is 5 em, thentherate of change of the lightning surface area of the sphere will be:
Options :

1. ¥ 20 cm?/sec

2. % 10 cm? /sec

3. % 15 cm? /sec

4. % 5 cm? /sec

Question Number : 204 Question Id : 50389010348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



T Tirer iy =, m#mi#aﬁqqmﬁ ¥ o7 Prewr s Yafr @, g AT
3 Wm (lightning surface area) & TGolel T ST A9 —

Options :

1. ¢ 20 9t a7t / A
2. % 109 &t/ A
3. % |5 qH I/ AHS
4. % sYH T/ AHS

Question Number : 205 Question Id : 50389010349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The arm length of an equilateral triangle increases at a rate of V3 cm/sec. When
the length of arm is 10 cm, then the area of triangle will increase by—

Options :

1. ® 10 cm?%/sec

2. % 20 cm? /sec

3.9 15 cm? /sec

4. % 25 cm? /sec

Question Number : 205 Question Id : 50389010349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ueh HHGAETG et Y sfeT Y wat 3 Gl fehs T e & Fedl & | i e
T olaTs 10 9T 8, aa Feyst & alahe frafe e T ane

Options :

1. % 10 9H 97l / b s



2. % 20 YW I/ Abs
3.¢ 15 M I/ Adbs
4. % 25 QM I/ b g

Question Number : 206 Question Id : 50389010350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A particle moving in a straight line has displacement x feet in t second, wherex =
t* + 6t* + 15t. Then at the end of first second the velocity and acceleration of the
particle will be —

Options :

| % 20 feet/sec’ and 12 feet/sec”

) 30 feet /sec? and 18 feet/sec?

3 % 20 feet /sect and 18 feet/'sec?

30 feet /sec? and 12 feet/sec?

Question Number : 206 Question Id : 50389010350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

= Ot @ # oA F0T F71 REmTaT « feet (B1E) t sec (THE) H AT 8, F&T
x= 3+ 662+ 15t &, AT 9T U5 F 3d & F0T F7 J97 AT =0T 29—

Options :
| % 20 BleiEs? 3R 12 Sledias?



5« 30 FrEdiEs? 3R 18 Hredas?
3 % 20 HIEATEHs? 3R 18 Hrodiss?

4 % 30 BEREs? 3R 12 Predss

Question Number : 207 Question Id : 50389010351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The arm length of a cube is 10 cm. If the error in measuring the length of arm is 0.08 cm, the approximate value of the error in the volume of the
cube will be:

Options :

1. ¥ 24 cm?
2. % 150m3
3. % 8§cm’

4. % 12 cm?

Question Number : 207 Question Id : 50389010351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH T Bt Yol DI @alTs 10 JH g1 TS Yol 1 dars Ao H ZfC 0.08 I B1 8, 6 949 & e & Ffe BT SIH1d JH 81

Options :

1. ¢ 24 JHB
2. % 159H3
3. % 3 qHP
4. % 129913

Question Number : 208 Question Id : 50389010352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

600
The volume ofa gasv = - varies with the pressure according to Boyle’s Law. If the

pressure increases from P = 20 to P=20.5, then the rate of change of volume with
pressure will be:

Options :
1. % -1.42
2. % -1.44
3. % -1.45
4, ¥ -1.48

Question Number : 208 Question Id : 50389010352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

diad & FH % 3EER mﬂﬁmﬁﬁrv=$ G < TR SGeldT 6l o | TG
GIE P =20 ¥ SGHL P = 20.5 81 ST &, ol &I o TT2T HTAde & IRdciel I L alal:

Options :
1. % -1.42
2. % -1.44
3. % -1.45
4, ¥ -1.48

Question Number : 209 Question Id : 50389010353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Let y2 = 4x be the coordinates of particle moving over an ellipse at a point where the growth rate of the ground is twice, then the rate of the y-
axis is

Options :

1. % (2,4)



2. % (4,2)
3. % (2,2)
4. (4, 4)

Question Number : 209 Question Id : 50389010353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A T &1 forg g IR STHH &1 gf S SR SN 8, T87 T BT, Edgd y2 = 4x, R IAHA §, A y-H& I e g -
Options :

1. % (2,4)

2. % (4,2)

3.% (2,2

4.9 (4,4)

Question Number : 210 Question Id : 50389010354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the equation f(x) = 2x% + 3x + 5 the value of x changes from 2 to 2.02 then the expectation will increase and decrease respectively
Options :

1. ¥ 0.2208 and 0.22

2. % 0.2204 and 0.22

3. % 0.2204 and 0.24

4. % (.2208 and 0.24

Question Number : 210 Question Id : 50389010354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

THIBHRT f(x) =2x2 + 3x + 5 H ST x BTHM 2 ¥ 2.02 H T ST & af 30eT HHT: el 3R -
Options :

1. ¥ 0.2208, 0.22

2. % 0.2204,0.22



3. % .0.2204, 0.24
4. % 0.2208,0.24

Question Number : 211 Question Id : 50389010355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The function f(z) = Ez ~L sin ii has-
2

z— 2} z

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

P | et

| A double pole at z=1 and isolated essential singularity at z=

[

5 A zero at z =1 of order two and isolated essential singularity at z=
, _— : 1
A zero at z = 2 of order one and isolated essential singularity at z =

‘ ; ’ . . 1
A simple pole at z=2 and non-isolated essential singularity at z =
4.

Question Number : 211 Question Id : 50389010355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B (- s L 3
f(z) = = smz_%ﬂ?rqﬁ!?l'



Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1 2= 1R & 4 3R 2= W FT% o RfE=arg
, z= 1R & FfE F Y § 3z =2 WTeTH RHorer RfE=arg
. z=2 TR UH FE F LI ¢ HN 2 = Wameas Fewr g

z =2 UF & Y § 3N z =2 T 393 7 oy RfE=arg

4.

Question Number : 212 Question Id : 50389010356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Consider the integrals.

fi— A
I, = [ ——dz wherecisa circle |z| = 2

€ (z+1)*
Andl, = fc Sizzazdz, where cisa circle |z] = 1
Then:
Options :
e h =1, =2mi

TI1 .
5 % [1_ 25,12 = —6mi



mie

b ===
3.% 0 BT
Tri
Li=—_JI5= &l
4 1 36’ 2

Question Number : 212 Question Id : 50389010356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR T Ta= 7 -
I, fc"'"{ H]ﬁz FETc THIATE |z] =2
A1, = f""“““d 7, SETc TH AT |z| = 1
= o
Options :
mie

- [l_T I — 2ni
- [l_;a I, =—6ni

=221, =
3 % 1 3 ! 2

11_ —R Iz = 61-[1



Question Number : 213 Question Id : 50389010357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Consider the bilinear transformation w = E Which of the following is true?

Options :

1. # The fixed point are z = £i and the transformation is hyperbolic
2. # The fixed point are z = 1,2 and the transformation is elliptic

3. ¥ The fixed point are z = +i and the transformation is elliptic

4. # The fixed point are z = +1 and the transformation is hyperbolic

Question Number : 213 Question Id : 50389010357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R fEaT 0 = = W RER | e g e saar e

z+1

Options :

1. % f7q fdig z = +i 8 IR uRadA sifauRarier® §
2. % fgd fdg 2= 1,2 § 3R uRadH 3SR &

3. ¢ {990 fdg z = +i § 3R URadH feTeR §

4. % fFOa fdg 2 = +1 € 3R uRkadq sifawRarfes §

Question Number : 214 Question Id : 50389010358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Let T: C U {oo} = C U {co} be the bilinear transformation such that T(i)=0. T (0)
=-1, T{d)=00.
Then the image of the region. {z € C:Im(z) = 0} under the mapping w = T(z) is:

Options :



| fwEeC:|w| =1}

) % fweEC:|w| <1}

= — =l
L, @etlol=1)

4% fw € C:Re(w) = 0,Im(w) =0}

Question Number : 214 Question Id : 50389010358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

7T NS &7 T: € U [o0] = C U [o0] Ueh Tehehl TRladel & S8 &1 T(i) =0. T (0) = -
1. T(-1) =00

araafT w = T(z) & HTdeT {z € C:Im(z) = 0} Pl g

Options :

| fwEC:|w| = 1}

) % fweECC:|w| <1}

- {weEC:|w]| =1}

4% fw € C:Re(w) = 0,Im{w) = 0}



Question Number : 215 Question Id : 50389010359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

oo

Consider the series X ﬁr Which of the following is true?
n=1

Options :

" The sum of the seriesis 22+ 1

S
The sum of the series is—
2. z

The series converges if |z| < 1
3. %

. The sum of the series is 22 - 1
4,

Question Number : 215 Question Id : 50389010359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

L

FEA I o REaR | FfR@a dd samad

=2+1)"
n=1"

Options :

|« HIRAFATE LA + 1

L v Wﬂuﬁﬂ?;



- HeJohd HIFETY g I 2] < 1

, x FGFEFATLZ - 1

Question Number : 216 Question Id : 50389010360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
cos(z —1

Let f(z) = (—1}’ then,

Options :

1. # f(z) has isolated essential singularity at z = 1

2. ¥ f(z) has simple pole at z =1

3. % Residue of fat z =1 is undefined

4. ® Residue of fat z =1 is not equal to 1

Question Number : 216 Question Id : 50389010360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A AR R ()=, A

Options :

1. % 2= 1 R (z) BT IS e fafzrar g
2.9 2= 1 R f(z) BT TH A Yd &

3. % 2= R P IV GRHIRVT B

4. % 7= R £PHT }GY | & UM -8l &

Question Number : 217 Question Id : 50389010361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
i

The function f(z) = e z? has-
Options :

1. ® An essential singularity at z=0
2. % Apoleatz=0

3. # An essential singularity at z = oo

4. ¥ No singularity

Question Number : 217 Question Id : 50389010361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
b §

f(z) = e 22 & FAA:

Options :

1. % 2= (0 R TP Ao faav fafemar s
2.% z=0WRUH YA g

3. % 7= oo R UD ISP faaT fafezar g
4. ¢ DS AT T8l &

Question Number : 218 Question Id : 50389010362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If f(z) = |z|?, then:

Options :

1. #® fis continuous but not differentiable at 0

2. ® fis neither continuous nor differentiable at 0
3. ¥ fis continuous and differentiable at 0

4. % fis discontinuous at 1



Question Number : 218 Question Id : 50389010362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ul f(z) = |72 &, Al -

Options :

1. % fIdd g 0 W fgha-d Tel &

2. % £ 0 RIS Uad g 3R A1 8l apa-g
3.¢ f,0 R Idd g aHT1 &

4. % f 1 R 3qAd g

Question Number : 219 Question Id : 50389010363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The residue of the functionf(x) = e zatx=10

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

l.is 1

2. Does not exist, since 0 is not a singular point

3.150

4. Does not exist, since 0 is not a non-isolated singular point

Question Number : 219 Question Id : 50389010363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fold {(x) = e‘i Frx=0HHTIT -



Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

.18

2. 3K | el 8, i 0 U afes fig el @
3.0%

4. 3T 7 8 g, Fifb 0 U R-faaw fafm fig §

Question Number : 220 Question Id : 50389010364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
zZ+1
z(z— 1)

Let f(z) = then the product of the residues of f at the poles is:

Options :
1. %1
2.%0
3.% 2
4. ¥ 2

Question Number : 220 Question Id : 50389010364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT AT L(2) = ==&, 07 R 3 F o s -

z(z—1)

Options :
1. %1
2.%0



3.% )
4. ¢ 2
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Question Number : 221 Question Id : 50389010365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Discipline?

12
503890272

Discipline?

503890408
1

Online
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20

20

Yes
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503890481
Yes



Which one of the following in not a convex set?
Options :

| & X={xy):x23,y=5}

, w X={®y):x*+y? <9}

; o Xk y) 4= +y <9}

X={xy):x2+y*<9}
kS

Question Number : 221 Question Id : 50389010365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafied o @ e o IY=d gl 82

Options :
& X= {x.y):x=3, y<5}

s w X={(x.y):x*+y <0}

; @ XTixy):4=x2+y <0}

. X={xy):x2+y?=0}

Question Number : 222 Question Id : 50389010366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
In hyperplane 2x; + 3x; + 4x;3 - x4 = 3, the point (1, 2, 3, 4) lies in -

Options :

1. % Open half space of type cx > z
2. % Open half space of type cx < z
3. # Closed half space of type cx < z
4. # Closed half space of type cx >z

Question Number : 222 Question Id : 50389010366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT 2% + 3x; + 4%x3 - x4 = 5 H, &g (1. 2. 3. 4) 3uRudag -

Options :

1.¢ch>zwﬁ?ﬁ6ﬁfﬂﬁ@
2. % UPR cx < z B fdgd e TH®
3. ® WCXSZWWG{‘&W@
4. ® UPR cx > z BT Uqd 3¢ THD

Question Number : 223 Question Id : 50389010367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The number of basic solution to the system -
3X1 +4X1+ 3X3+8X4:T

2%y - 3% +2x3 - 6x4 =13 18

Options :

1. % 12

2.9 4

3.%9



4. % 6

Question Number : 223 Question Id : 50389010367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

few 1T JoTretr -

3X; +4x%,+ 33+ 8x4 =7
2X1-3%+2x%;-6x4=13
F AT g AT EET § -

Options :
1. % 12
2.9 4
3.%9
4. % 6

Question Number : 224 Question Id : 50389010368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If a constraint is multiplied by a non-zero constant of a L.P.P, then the solution
Options :

1. ¥ Does not change with original solution

2. # isincreased by addition of that non-zero constant

3. # is increased by multiplication of that non-zero constant

4. # is decreased by subtraction of that non-zero constant

Question Number : 224 Question Id : 50389010368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g XIS TUTHA THT & Th ARIY B U IR 3R I 07 fasan S, < om0 g —

Options :



1. ¥ Id 8 & 1Y el sadl g

2. % I TR 3R & AN Pt A & THH §¢ STl §
3. % IY TR 3R & UE $I 7 & AU ¢ oifd §
4. % IY IR 3R & °eId ! AH & THMH °e Sl §

Question Number : 225 Question Id : 50389010369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
For a L.P.P, Minimise
z=% + 5x; - 3x..
Subjected to
EK{ _:K:_:K].:j‘:.
3X1 - X3 + 4X3. = 5:
Xi. X2. X3 i I::I:
the solution (1. 2. 1) is —
Options :
1. #® A basic but not feasible solution
2. ® A basic feasible solution
3. ¥ A feasible but not basic solution

4. ® Neither basic nor feasible solution

Question Number : 225 Question Id : 50389010369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
o s Taras g9e R R Y- .
fore= gt % ded

231 +K:.+K3=5:
33{{ - ¥y T 4K3 — 5:
X1. X3, X = CI:

z=1x; + 5%, - 3x; T ~GIdH AT A DA
SOOATTHIgA (1, 2. 1) E—




Options :

1. % Tob YR g fobg G g -T51
2. % Tdh SMYRI I g

3. ¥ U YT B fobrg SMURT g &1
4. % S STYR B 3R A1 81 I 8

Question Number : 226 Question Id : 50389010370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The solution (1. 0. 1) to the system
X1 +X3+K3, =2: Xy- 3X3+'K3=2:
2% +3x; t4x3; =618

Options :

1. ¥ A basic feasible solution

2. # Not a basic solution

3. # A basic but not feasible solution

4. % A non-degenerate basic feasible solution

Question Number : 226 Question Id : 50389010370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

few aw m=rT -

KI+X:+K}=2:XI-3K:+X3=2:
.2X]_+3‘X:+4K3=6

Pregef (1.0, 1) -

Options :
1. ¥ T YR YT g ©
2. % Toh 3MYRI 8 T8 &



3. % T MUK 8 § fobrg A &1 e
4, % TH SAUYE ATYRY I 89 ©

Question Number : 227 Question Id : 50389010371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The minimum cost of the assignment problem:
122415
23|18| 24
30( 14| 28

ig =

Options :
1. % 52
2. % 45
3. % 60
4.+ 50

Question Number : 227 Question Id : 50389010371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
orrgs 9@

12124 15
23|18 24
30| 14| 28

HGATH AT & -

Options :
1. % 52
2. % 45
3. % 60



4.4 50

Question Number : 228 Question Id : 50389010372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The optimal value of the objective function of the L.P.P,
Min z = 5x; - 2x5;

subjected to 2x; + 3%, = 1

X1, X3 = 0 is-

Options :

75 B

Question Number : 228 Question Id : 50389010372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



feT 77T Y@ SremAs gRE W EE -
oy cgarut F sEeE

2?{'[ + 3K: = 1
X X2 = 0
z= 5%, - 2%, T ~GAdH ATA FT AT F{ -

Options :

W s

B |

Question Number : 229 Question Id : 50389010373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The pay - off matrix for a strictly determinable game is -

bl 4§ |22
-1|b|-8
213 |b

The value of b is -
Options :



1.¥-1<b<2
2.%0<b<2
3.% 2<b<2
4. % 8<b<5

Question Number : 229 Question Id : 50389010373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T F35 ¥ TUTRE Tl F7 390 Hehg & -
b|5]2

3 (b8
2[3]b
bR AA & —

Options :

1.¥-1<b<2
2.%0<b<2
3.% 2<b<2
4 % 8<b<5

Question Number : 230 Question Id : 50389010374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following is not a non-degenerate basic solution in a system of 2 equations with 4 unknowns?
Options :

1. % (10,-42,0,0)

2. % (0,22,-43,0)

3.4 (0,0,-8,0)

4. % (7,0,-9,0)

Question Number : 230 Question Id : 50389010374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad o ¥ ST 4 TR T3 €1 GHISHRON BT SFUYT YR I 8 181 81 Tebdl?
Options :

1. % (10,-42,0,0)

2. % (0,22,-43,0)

3.4 (0,0,-8,0)

4. % (7,0,-9,0)

Question Number : 231 Question Id : 50389010375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If A =[a, b] be any usual metric in R then A° (interior of A) equals to-
Options :

1. # [a, b]

2. % Ja,b)

3.¥ (a,b)

4. % (a,b]

Question Number : 231 Question Id : 50389010375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i A = [a, b], R H T AT Hifew g1 Y A° (A T 3MTdRep) § -
Options :

1. #® [a, b]

2. % [a, b)

3.¥ (a,b)

4. % (a, b]

Question Number : 232 Question Id : 50389010376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In a metric space (X, d), A be a metric space, then the largest open subset of AC (complement of A) is
Options :

1. #* Interior of A

2. % Exterior of A

3. ¥ Boundary of A

4. % Closure of A

Question Number : 232 Question Id : 50389010376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe Hifes WM (X, d) T A T Hifew WM Y, @ AC (A & RP) BT Tad 81 Jall SU-THE § -
Options :

1. % A BT GRS YT

2. ¥ A DI EEY HIT

3. % AP

4. % A IHY

Question Number : 233 Question Id : 50389010377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If there are two subsets A and B of a metric space (X, d), then which of the following is false?
Options :

lu (AD)D=AD
, x (ANBP=A"NB°
, o AUBP=AUB

- AcB=A°cB°®
4. %



Question Number : 233 Question Id : 50389010377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g A 3R B HI SUTH=d 81 Hifed ®IF (X, d) H, 1 Fafaied & 9 o sa g2

Options :
L% (Ar=A°

, x (ANBr=A"NB°
(AUB)=A°UB®
3. ¢

AcB=A"CcB"°
4. %

Question Number : 234 Question Id : 50389010378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a metric space (X_d), A be any subset. A point x € X is called a limit point of A_ if
for every open ball B (X, 1)-

B oNA-{ExDZ0
(BE:DNA)-&X}F¢
(BE:D-xDNA£

L e B

Options :

1. % Only 1

2. % Only 2 and 3
3. % Only 1 and 3



4.%1,2and 3

Question Number : 234 Question Id : 50389010378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HieT eNfoiT & Alfge Tomel (X, d) # A U 390HAd g U g x € X ol A T
I el AT 6, TG Yo [aad el B (X, 1) & elw —

—t

_B[x;r]“:[A-{x}}:¢ﬁﬁT
BE;DNA)-{&}=paral
(BE:n-{xHNAeEA

[~

L.»-.I

Options :

1. % $Had |

2. % Had 2 3R 3
3. % Pad | 3R 3
4.¢ 1,2 313

Question Number : 235 Question Id : 50389010379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In any metric space (X, d). if A be any subset, then A C X is closed if and only if

L.rJt‘-.JI—"
e

A°
A
A°

ol

Optlons :

1. % Only 1

2. ¥ Only 2

3. % Only 3

4. % Only 1 and 3



Question Number : 235 Question Id : 50389010379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FIs MfesF TAT (X d) A AT AT HT A TF 3qqAgT 5, O A c x Had @l
qrean Ife AR Faer afe -

1. A=Acgrar

2. A=Agrar

S_AEA"BTFIT

Options :

1. % $ad |
2. ¢ Had 2
3. % $Hdd 3
4. % Had 1 3R 3

Question Number : 236 Question Id : 50389010380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If a particle is thrown vertically upwards with a velocity u and v be its velocity at a
time t at a height h above the starting point, then which of the following is not true?

1.h=ut-§gt3'
2.vi-u?=2gh
3.v=u—gt
Options :

1. % Only 1 and 2
2. % Only 2

3. % Only 3

4. % Only 2 and 3



Question Number : 236 Question Id : 50389010380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I TF F0T HF u 7Td F Y Fa9d FR A R AT N TAT t WA h F
3EH AT v &), o Tt & & Sl s

1 y
.h=ut-£gt*'
.v2-u?=2gh
.v=u-—gt

[V TR S

Options :

|. % Pad | 3R 2
2. ¥ Had 2
3. % $dd 3
4. % Had 2 3R 3

Question Number : 237 Question Id : 50389010381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If a particle describes cardioid r = a (1 - cosB) under a force to the pole then the law of force (P) is.
Options :
1
P« =
1. # 3



Question Number : 237 Question Id : 50389010381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e Th BT Yd R I & ded BISIHIZS r = a (1 - cos) BT U BT § o I BT TH (p) BT -
Options :
1
Lu

Question Number : 238 Question Id : 50389010382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A stone is thrown horizontally with a velocity ,/2gh from the top of a tower of height
h. At what distance will it strike the horizontal ground from the foot of the tower?

Options :
1. # 3h
2. % h



3.9 2h
4, % 6h

Question Number : 238 Question Id : 50389010382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T T2 F &S §9 ¥, /2gh 397 F T h F918 F U <ha% F N & G e
g1 I8 AR % R ¥ &fas ffF W FFaa gfr e

Options :
1. # 3h
2. % h
3.4 2h
4. % 6h

Question Number : 239 Question Id : 50389010383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A particle describes an ellipse under a force which is always directed towards the major axis. The law of force (F) is
Options :

1
Fo—
LYY



Question Number : 239 Question Id : 50389010383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP HUI Y 3fef B 3R AERIT 9 & dgd U Selfgd o1 9o Har 8 | 9 &1 fad (F) g —

Options :

1
Fo—
LY Y

Question Number : 240 Question Id : 50389010384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If a particle describes a curve r = ae*® under a central force towards the pole, then the
law of force (P) is -

Options :
1
P o=
v r
1. =



Question Number : 240 Question Id : 50389010384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IFE TF F0T 4T W FT T % dgd 99 1 = aek® FH JUIT HIAT 8. al 9 F (A
(P)E-

Options :

1
P~
], % .

Discipline8
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Group Id : 503890273



Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
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Section Id : 503890409

Section Number : 1

Section type : Online
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Number of Questions : 20

Number of Questions to be attempted : 20
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Sub-Section Id : 503890482

Question Shuffling Allowed : Yes

Question Number : 241 Question Id : 50389010385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The distance s of a particle moving in a straight line in terms of time t is given by:

s =a cos (nt + €), where a, n, t are constant.
Then the retardation is proportional to:

Options :

1. % 52



Question Number : 241 Question Id : 50389010385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ty ¢ & o 7 e et Y@ & 1o T Bur gl s A TE R

s =a cos (nt + ¢) 5Tg1 a, n, t RRTI
9 Fed FHUT Bl 8
Options :

1. # Sz

Question Number : 242 Question Id : 50389010386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



If a particle thrown vertically upwards takes t sec to rise a height h and t’ sec in the subsequent time to reach the ground again, then:

Options :
1
h = - gtt’
1. v 28"
h=2lg(t+t)2
2. % 2"

1
h=5g(t+t’j

|
L h=u(t+t)—- gt+t)

Question Number : 242 Question Id : 50389010386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e dead SWR B 3R Bl T T HU1 SaTs h & Uga & ol t Y a1 § 3R S TR a9 Ugeq & ¢ Ydbhs odl 8, a9

Options :

h =%g(t—l— t)?
1
h=_gt+t)

1
h=u(t+t)—-gt+1t)?
4. % 4



Question Number : 243 Question Id : 50389010387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
For rectilinear motion of a particle, if an impulse I changes its velocity from u to v and E is the change of kinetic energy, then:

Emies)
eI
=)
L E=(E)

Question Number : 243 Question Id : 50389010387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T HUT B! e 771 & 7T, TS 3imaeT 1 310 T Y u ¥ v § Saeldl @ 3R E Tl SHoll bl GRad g, ar:

Options :

. E— I(u;Zv)
e I(Eu;—Ev)



Question Number : 244 Question Id : 50389010388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If a particle describes a curve whose equation is % = B2 + b under a force to the

pole. then the law of force (P) is —

Options :

Question Number : 244 Question Id : 50389010388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



ATE U UT o 9T S & dgd Ueh deh T auie Fal ¢ Toiae ST §
2 =02 + b, drge = 5 TH (p) ETT-

r

Options :
Z2a+r
oC

Question Number : 245 Question Id : 50389010389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If a particle moves in a straight line according to the law x = a sin(ut + €), then the velocity V is related by:
Options :

V2= p(x? - a)

1. =

) vE = IJE(aE _XE]

V2 = p(a - x?)

3. %

L 1;2 - FIE(KZ _32}



Question Number : 245 Question Id : 50389010389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e HIs B FATGH x = a sin(ut + €), B TR TH Heft R A M HRAT g, ATV &:

Options :
V2= p(x2 —a?)

1. #

- VE = uz(az —KZ]

V2 = p(a® — x?)

3. %

, % vE — HE{:}CZ _32}

Question Number : 246 Question Id : 50389010390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is incorrect in (X, 3)?

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. A subset A of compact space X is compact

2. If X=R and T is usual topology then A = (0, 1) is compact

3. Continuous image of a compact space is compact

4. Closed subset and compact space is compact



Question Number : 246 Question Id : 50389010390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faffead 7 9 oF (X, 3) H Tad 82
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. Ued GAfRE X &1 T 30 =T A Jgd §

2.9 X =R AR T IHI TifUFAI AN A= (0, 1) Tgd &

3. dgd 9H & ¥ad Sfd dgd gidl §

4. ¥9d 30 9= 3R dgd vHfte, dgd §

Question Number : 247 Question Id : 50389010391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A one to one continuous map of compact space X onto a Hausdorff space Y is

1. Open map
2. Not an open map
3. Not a homeomorphism

Options :

1. % Only 1

2. % Only 2

3. % Only2and3

4. ¥ Neither 1 nor 2 nor 3

Question Number : 247 Question Id : 50389010391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IISTH M Y R Ted T X BT FRaRAa=n §
1. QT ST



2. gl =TaT gl
3. U giftramfthes 6t

Options :

1. % &Had 1

2. % Had 2

3. % Had 2 3R 3
4.¢TA 1 3MRAR 23R 3

Question Number : 248 Question Id : 50389010392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which one of the following is not true?
Options :

Every co-finite topological space is infinite
1. %

A closed and bounded subset of R is compact

. An infinite discrete space is compact

., A closed subset of a compact space is compact

Question Number : 248 Question Id : 50389010392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fafafed & 3 &F 91 93 751 82

Options :



, » R T §g AR TReS 3907 Heel &

;. & O AT IS TS 'HB?—T%

L% e TAYE &I U 8¢ 390H=9] Uad aidr g

Question Number : 249 Question Id : 50389010393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Every topological space (X, 3) is compact if

Options :

1. # X is not finite

2. % 3 isnot finite

3. % Every open cover of X is reducible to finite sub cover

4. ® X is not compact at each points

Question Number : 249 Question Id : 50389010393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T wifkfas Tafd (x, 3) Sedgiarg alg

Options :

1. % X uRfa gt g dl

2. % 3RS gl dl

3. ¢ X &1 Ud® Gl TR, TR IU-3M1aR0T & forg S uiald 814 arg §
4. % X YA ffg W Iga 6l 8

Question Number : 250 Question Id : 50389010394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

If a sequence converges to a point X,. then the set A consisting of the point X, and x,
(=12 . )is —

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. Not compact

2. A is not an open cover

3. Compact

4. A has infinite sub cover

Question Number : 250 Question Id : 50389010394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ITe FE HJFHA g x, H INGTId 81 &, af Wg x, #x, IR =1,2, ....... )

¥ fHesy o7 =T AF -

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. 8d el

2. A f3qa smeRUT A ®

3. 9gd

4. A U 3 Y-SR §

Question Number : 251 Question Id : 50389010395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Two linearly independent solutions of the differential equation y'' — 2y’ '+ y =0 are
y; = e* andy, = xe* then a particular solution of "' — 2y’ + y = e*sinx is:

Options :

yv2 (X cOs X - 51N X)—V; COS X

, % Y1 (x cos x +sinX)+y; sinx

s yy (X cos X +sin X) — vy, (cos X — X 51n X)

e (X cos X -SINX)—Vy; COS X

Question Number : 251 Question Id : 50389010395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
R EHART F A EF T T ETITgdy’ — 2y +y=08. FEl y, = TUT
y, = xe* g, iy — 2y’ +y = e*sinx & T 99 §A &I :

Options :

yv2 (X cOs X - 51N X)—V; COS X

, % Y1 (x cos x +sinX)+y; sinx

\ yy (X cos X +sin X) — vy, (cos X — X 51n X)



Lo Y (X cosX-sinX)—Vy;CosX

Question Number : 252 Question Id : 50389010396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Let v = X, v = &% be two linearly independent solution of the corresponding
; dZy d
homogeneous equation of (1+ x)d—; + Xd_i —y=(1+x)>% If Vp = u(x)x+
v(x)e™™ be the patticular solution of the non-homogenous equation, then:-
Options :

| x w®=xh vE) = (1-%))

2 u(x) =x, v(x)=e*(1 - x)

3w w(x)=x v(x)=e*(1+x)

4 % w(x) = -x3, v(x)=ex (1 + 2%)

Question Number : 252 Question Id : 50389010396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT Y By =x, y = e, FlfOrel o Waltamor (1430 S +x —y =
(1+x)?2%F & @+ & & &=d AU § | IME y, = u(x)x+v(x)e™
AT THRIOT 1 T4 g &, af- -

Options :



® w(x)=x4 v(x)=e* (1 - x%)
2 o u(x) =x, vix)=e* (1 - x)
% Wx)=x v(x)=c*(1 +x)

e u(x)=-x v(x)=e*(1+2x)

Question Number : 253 Question Id : 50389010397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

. diy dy\?Z . .
The general solution of =T (a) is (a. b are arbitrary constants)

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

l.y=cos (x+a)+ bx

2.y=cos(x+a)+hb

3.y=tan(xta)+b

4.y=sin(x +a)+bx

Question Number : 253 Question Id : 50389010397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

- |1+ (Z) % e g ¥ (a, b e FRRE )

dx



Note: For this question, discrepancy is found in question/answer. So,this

question is 1gnored for all candidates.
Options :

l.y=cos (x+a)+bx

2.y=cos(x+a)+b

J.y=tan(x+a)+b

4.y=sin(x +a)+bx

Question Number : 254 Question Id : 50389010398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

For the differential equation (2x*+ 3x) v’ + (6x +3) y’ + 2y =(x + 1) e*. which of
the following is correct?

Options :

| The equation is exact and its solution is y(2x + 3) ="+ ¢; logx + &

) % The equation is not exact and its solution is y? (2x - 3)=vy e+ ¢; logx + ¢;

3. % The equation is exact and its solution is y? (2x-3) =y e+ ¢ logx + ¢,

4% The equation is not exact and its solution isy (2x +3)=e* +¢; logx + ¢

Question Number : 254 Question Id : 50389010398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HIhe ATRIOT (2x2 +3x) v +(6x + 3) v’ + 2y = (x + 1) ex * ToIT, Feafai@a
AUFTA T



Options :

| v TR EES § A SEH g y(2x +3) = e+ oy logx + e §
5 % mmﬂﬁ?mmﬁy (2x-3)=ye*+c logx+c, &
3 % mm?mwﬁy* (2x-3)=ye*+c logx+c; @

4. ® mmﬂﬁ?mﬁWﬁyﬂx+3)=eﬂ+cl Iﬂgx-frc; E‘

Question Number : 255 Question Id : 50389010399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

, ’ , , , . d
A solution curve of the differential equation (x? +xy +4x+ 2y +4) T _y2=0, x> 0.
q } ) TR

passes through the point (1, 3). Then the solution curve —

Options :

L% Intersects v = x + 2 exactly at two points
, w Interseets y =(x + 2)* exactly at four points
 Intersects y=x + 2 exactly at one point

3.

4 % Intersects v = (x + 2 exactly at six points

Question Number : 255 Question Id : 50389010399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

mm(x-"+xy+4x+4r+4]%—yz =0, x>0, T U gl T 195 (1. 3)
W BT I € T ger 9 -

Options :

L% y=x+23ﬂ'a$fﬂ'ﬁ§3ﬁ'ﬂm?
) % y=(x+2)3ﬁa$mﬁ§3ﬁﬂm?
3 y=x+2ﬁ'a$ﬁﬁ§qm?

y=(x +2) FI 3% OF TagH T Fedm g

4. %

Question Number : 256 Question Id : 50389010400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If x® v* be the integrating factor of (y* -2y x?) dx + (2xy? — x*) dy = 0, then
the value of (h, k) 1s:

Options :
1. % (-2,3)
2. % (2,-1)
3.99(1, 1)
4. % (1,-2)

Question Number : 256 Question Id : 50389010400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Tl (v - 2y x2) dx + (2xy? —x?) dy = 0 T FHHAA JUTF g, == y¢ &1, af (b, k) FT
AT g-

Options :
1. # (-2,3)
2.% (2,-1)
3.¢9(1, 1)
4. % (1,-2)

Question Number : 257 Question Id : 50389010401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

dy

3
dy . )

) +F s (a. b are arbitrary constants).

dx dx -

. dzy 2
The general solution ofﬁ = (

Options :

1. ® logcos(y+a)=x+b
2. % logsin(x+a)=y+b
3.% Jogsin(y+ta)=x+b
4. % logcos(x+a)=y+b

Question Number : 257 Question Id : 50389010401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

dy _ (E)E +g FT EATF goT ¢ (a. b= TEUTFH 8)

dx? dx

Options :
1. # logcos(y+a)=x+b
2. % logsin(x+a)=y+b



3.¥ logsin(y+a)=x+b
4. % logcos(x+a)=y+b

Question Number : 258 Question Id : 50389010402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The orthogonal trajectories of the system of coaxial circles x> + y? + 2ix + ¢=01s
(taking P as parameter)

Options :

X*+vyvi-2puxy+c¢c=0

1. #

x2+y?+2py-c=0
5 o Y Hy - c

x2+y?+2 py +cx=0
3. %

L% xX+y-2ux+cy=0

Question Number : 258 Question Id : 50389010402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FATENT Jod x2+ y2 + 2hx + ¢ = 0 T YOl &% Sl Hoer § (1 F 9=e &
¥ H o gU)

Options :

[ % X+y:-2puxy+c=0



‘2_|_ :+ - —
2'\_/1{ v-+2uy-¢c=0

X*+yv:+2py+ex=0
3. %

L% x2+y?-2px+cy=0

Question Number : 259 Question Id : 50389010403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

p o - dy .
The complete primitive of p? + px + py + xy =0, wherep = d—i: is:
Options :

lw(2y+x3-c)(x+logy-c)=ﬂ
, % 2y—x*-¢c)(x—ylogx-¢c)=0
3 % (y+x*—cxy) (x*+2logy-c)=0

4% 2yl —x?-¢)(x—vylogy-¢c)=0

Question Number : 259 Question Id : 50389010403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



pl+pr +py+xy = ﬂﬁr{ﬁmﬁ{pmnm)mp—— &

Options :

L@ 2y+xl-¢)(x+tlogy-c)=0

, % Qy—x*-¢)(x—ylogx-c)=0

3 8 (y+xP—cxy) (x*+2logy-c)=0

4 % (2y?—x*-c)(x—ylogy-¢c)=0

Question Number : 260 Question Id : 50389010404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The three linearly independent solutions of x3 6}{ -I- 12y = 0 of the foorm y =x*

dE
is —
Options :
2 3
| % %X5X

> it I o
2. ¥

3 % 1, %%

4% I:x% x?



Question Number : 260 Question Id : 50389010404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
d®y d :
y=x a?m:iixgd—;— ﬁxd—i+ 12y=0 F s @ T T =T g & -

Options :
| ow X X5 x?
e LI

2.
3 % 1. x.x°
4% 59 O o
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Question Number : 261 Question Id : 50389010405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If in the first hundred natural numbers, X be one of them. then the probability that
x +224s greater than 50 is -
X

Options :
9

1. ® 11

11
R 4 20

13

11
21



Question Number : 261 Question Id : 50389010405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tfe TUH 100 TThd TEABT & T TH TEATx &, dTx + . FT50 T 31oeF g
-

Fr aerar g -

Options :
9

1. & 11

11
4 20

13

11

4 % 21

Question Number : 262 Question Id : 50389010406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If a coin is tossed (m + n) times (where m > n), then the probability of at least m consecutive heads is -
Options :
n+1
o 201

1.



m+2
211+1

2+n
2Mm+1

m+1
oMm+1

Question Number : 262 Question Id : 50389010406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e T fRYg®H P (m + n) TR IBTEAT MY (S&T m > n §), A FATH m IR TAR ford Udbe 11 & oifdresar grft -
Options :
nt+1l
% 211-‘-1

m+2
2n+1

2+n
2 m+1

m+1
2m+1

Question Number : 263 Question Id : 50389010407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
A box contains 27tickets among which "C; bearthe numberi (i=0,1.2, .._n) A
group of m tickets is drawn. What's the expectation of the sum of the numbers?
Options :
mn

1.¥ 2

2.8 2

Question Number : 263 Question Id : 50389010407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T aFa A2 ede § SR O G, A EATi, (i=0.1.2, . n) b | mRERFeis
[HE ol Telehlell 31T | FEAT3T o A3 hT G120 4T 57

Options :
mn

1.¥ 2

n{m+2)




n{n+1)

=

Question Number : 264 Question Id : 50389010408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following statements is false?

Options :

1. #® Data that are on nominal scale are presented using frequency tables

2. ¥ Pie charts are better than bar graphs for comparing relative sizes

3. # The scatter - plot is the basic graphic tool for investigating relationship between two intervals or ratio scaled variables

4. ® Means and standard deviation of ordinal data are meaning-less

Question Number : 264 Question Id : 50389010408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafafad 5 3 S HU 3 82

Options :

1. % Ifd gumT (nominal scale) & 3113’% IRARAT IR (frequency tables) I JUINT HP Uddd foar SiTan %

2. ¥ mﬁ&r&m@raﬁwmﬁ%ﬁuﬁaﬁ &3 3R (bar graph)ﬁa_s'?ﬂaa%

3. % THI0 3R (scatter-plot) Gl SfARTa! AT WW@%WW@ﬁW%WWWW%
4. % HAT MBS (ordinal data) b HIEHT 3R A fIga fgH 8d &

Question Number : 265 Question Id : 50389010409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



If random variable X has the probability function f(x) = ;, (=012 ......Yiha

value of K is

Options :
1

1.¢¥ ©

Question Number : 265 Question Id : 50389010409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

e arEfoes 9T X WIRIhdl Held f{x}=§= (x=0,1,2........) %, d KA a—

Options :
1
1.¢ °
2. % ©
1
==
a



Question Number : 266 Question Id : 50389010410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following comes under probability distribution?

Options :
fix) == x=1,2.3.4
1. #
1
g(}s:)=1:};=1:2,3,4
2. ¥
KZ
. h(};}=£, x=1.2.3.4
3.
fix) =2, x=1,2,3.4
4, #

Question Number : 266 Question Id : 50389010410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFofafed & O S uiiedl sed & sfarid smem
Options :

N

- fx)=

= s x=1,2,3.4
1. #



1
L R j
2'Jg(x) X 1.2.3,4
KZ
hix)=—.x=1,2.3.4
3 # 25
et
= — — 2
. f(x) - X 1,.2.3. 4

Question Number : 267 Question Id : 50389010411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The frequency distribution of the amount of rainfall in December in a certain region for a period of 30 years is given as

Rainfall (in inches) Number of vears

20-40

40-60

6.0-8.0

80-100
109 -12.0

Lh| o) ol Oy L

The mean amount of rainfall in inches is -

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1.7.30

2.7.25

3.7.40

4.8.40



Question Number : 267 Question Id : 50389010411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feder 7 ue FAfya &= & 30 o P 31afy & forw gl &) AT BT IRERAT se 39 UHR fear T :

s (@AM st T JE&ar
20-40
40-60
60-80
80-10.0

109 - 120

Lh| Go| o) Oy L

TN I B AT AT S —

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1.7.30

2.7.25

3.7.40

4. 8.40

Question Number : 268 Question Id : 50389010412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
6 coins are tossed 6,400 times. What is the probability of getting 6 heads, x times?

Note: For this question, discrepancy is found in question/answer. So,this
question 1s 1gnored for all candidates.



Options :

1
m E-lﬂ[b{

], %

e-100x
2.

-100%
3. X<

100x
e

xl

Question Number : 268 Question Id : 50389010412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

6 TIaD! BT 6,400 TR IBTAT ST 5 | x TR, 6 TId U B B1 WISl 1 gIT?
Note: For this question, discrepancy is found in question/answer. So,this
question is 1gnored for all candidates.
Options :
1 o100

1.

E-IDD}{
2.

-100x
3 Xc



100x
e-100 %

Question Number : 269 Question Id : 50389010413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If X, and X; are two independent variablesand Y=a; X; +a; X; thenE(Y)is
Options :

| ot E(X 1) +a; E(X3)

) % a; X ta X,

Xy 7Ky
W

31X1+31X1
E

Question Number : 269 Question Id : 50389010413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ife X, X, T =maT e 3N v =2a, X; +a, X, 8. Al E(Y) &7 AT &9 -

Options :

| ot E(X4) +a; E(X3)



) % a; Xqta X,

L XX

4% a; X;Ta X

Question Number : 270 Question Id : 50389010414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A manufacturer of steel blades found 5 percent of its blades defective. He sells blades in packets, each containing 5 blades. The probability that a
packet contains one defective blade is

Options :

e 0.25

Question Number : 270 Question Id : 50389010414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T WA &S & (I = U fos ISP 5 U= &S WRIS § | 98 Udhe H &I o9l § AR TP Udbe H 5 &S 81 & | T Udhe B Ud
TE A B I TG & —

Options :




Question Number : 271 Question Id : 50389010415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Marks of a chemistry test follow a normal distribution with a mean of 65 and a standard deviation of 12. Approximately what percentage of the
students have scored below 50?

Options :

1. #® 89 percent
2. % 18 percent
3. % 11 percent
4. #® 15 percent

Question Number : 271 Question Id : 50389010415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T T X TRI&0T & 3(cb 65 o A1 3R 12 P A A & I FHY S BT UTa Hd g | ATHT fha ufa=rd 81 3 50 9 HH
3id U far g2

Options :

1. % 89 gfa=rd

2. % 18 gfa=rd

3. ¢ 11 Yfa=rd

4. % 15 9fa=rd




Question Number : 272 Question Id : 50389010416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Let E=2T+]’—2Eand?=i’+]’. If Z is a vector such that X.Z = |Z|,|Z2 — | = 2/2
and the angle between X * y and Z is 30°, then the magnitude of the vector

(XXV) XZis
Options :

x-"E
2

B |

2.¥

|

Question Number : 272 Question Id : 50389010416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT AR Az =2i+j2k3Ry-i+ijE | Rz aRraIT >
X72=|2,1Z % =2V2 09X xy 3T Z F ST FTFUT30° . AT HEZA (X X §) X
ZHr Ui g

Options :



-
ad |wl

Bd | L

2. ¢

|

4.% 2

Question Number : 273 Question Id : 50389010417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

There are two orthogonal vectors A. B in R®, each of length 1 unit. Let P be a vector
satisfying the equation P x B = A — P_ then -
Options :

| Pis DIThGgOﬂE.[‘EGE
) % P is not urthngonaltoﬁ

3 % Pis orthngonaltcﬁ

— —s
4% P is not orthogonal to A



Question Number : 273 Question Id : 50389010417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R:F &I ofFas 9iger A, B & 508 9ol &1 o9 | SIS (unit) & | TfE o Figer
P, GIeUT P x B = A — P, &l R <l &l al —

Options :

| v P.EFERONTE
, % P.BFoEHUITAR §

. P, AT daRIUNTE

3

4 % P AT SR e &

Question Number : 274 Question Id : 50389010418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The work done in a moving particle in the force field F=327+ (2xz-vy)]+ zk
along the straight line from (0. 0, 0) to (2, 1, 3) is-

Options :

1. ® 22 units

2. ® 14 units

3. % 16 units

4. % 42 units

Question Number : 274 Question Id : 50389010418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
(0, 0, 0) | (2, 1, 3) Tk UF HreY 1@ & HFfeer U TTATS F0T SF T &7
F=3271+(2xz-y)] +zk ¥ Farrar o5& gem-

Options :

1. % 22 3H13A
2. % 14 3H13AT
3. ¢ 16 ghIAl
4. % 42 IH1SYI

Question Number : 275 Question Id : 50389010419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The unit vector perpendicular to each of the vectos U =21- + k. v=1+] — k is-

Options :

(—i B 4E)
| ® \."E



Question Number : 275 Question Id : 50389010419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

At gfEeri =21 - 5§ + k, ¥ =1 +] — k % dlaag A9 Giewghn -

Options :

(—i i aﬁ)
], ® V26

(—1’ +3]— 4E)
4. % V28

Question Number : 276 Question Id : 50389010420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Multiplication of the number 0.5321E5 and 0.4387E10 is
Options :

1. % 0.2334323E15

2. % 0.2334E15

3. % 0.233433E15

4. % (0.23343227E15



Question Number : 276 Question Id : 50389010420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
G| 0.5321E5 3R 0.4387E10 HT A -
Options :

1. % 0.2334323E15

2. % 0.2334E15

3. ¥ 0.233433E15

4. % (0.23343227E15

Question Number : 277 Question Id : 50389010421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If E = eje; with e; = 5.43, e; = 3.82 and if error in both ;. e; is 0.01.
then the relative error of E is-

Options :

1. # 0.045

2. % 0.0054

3. % 0.0045

4. # 0.0425

Question Number : 277 Question Id : 50389010421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TG E=eie Bl STl e1 = 543, &2 =382 § 3 e e2 QAT AT 0.01 5. ANE
ol 3TITaTR AET AT —

Options :

1. % 0.045
2. % 0.0054
3. 9 0.0045



4. % 0.0425

Question Number : 278 Question Id : 50389010422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The absolute error in approximate number x4 = 0.333 when exact number X, =§ up
to two significant digits is

Options :

1. % 0.0003

2. % 0.00033

3. % 0.033

4. % 0.0033

Question Number : 278 Question Id : 50389010422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Eﬁmm&=§ﬂ&ﬁ'ﬁﬂ?ﬁxﬁ=G,33331]F{T23F'HT23$3#|#F1$
e e -

Options :
1. % 0.0003
2. % 0.00033
3. % 0.033
4. % 0.0033

Question Number : 279 Question Id : 50389010423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Let A be the set of rational numbers in the open interval (0, 7) and f : A — R be a uniformly continuous function. Which of the following is true?
Options :



1. #® fis necessarily a constant function

2. ¥ fis bounded

3. # fis differentiable on (0, 7)

4. ® fis differentiable at all the rational points in (0, 7)

Question Number : 279 Question Id : 50389010423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A o & A, fagd SIaRTd (0, 7) H aRET TRemmsfi FT A=A g Td £ A — R U YHAM ¥U J Udd o ¢ | Fuied § § a8
Options :

1. % £3ffard ¥U Y UH RR B

2. ¢ tUREG ?

3. % £(0,7) W AAHANT

4. % £(0,7) % gt uTT fogsff IR sradparia g

Question Number : 280 Question Id : 50389010424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R e

Let n be a fixed natural number. Thus. the series is —
m=n m

Options :

1. # Absolutely convergent if n > 100
2. ® Divergent

3. ¥ Convergent

4. % Absolutely convergent

Question Number : 280 Question Id : 50389010424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A1 AT 0 0 RfRe s wEar g 37 o

Options :

1. # fRue SYERY afd n > 100 g3 dl

2. % JOIRY
3. ¢ JTERY
4. % foROef IR

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :

Teaching Methodology

15
503890275
0

180

No

No

0

20

No

Teaching Methodology

503890411
1

Online
Mandatory
20

20

20

Yes



Sub-Section Number : 1
Sub-Section Id : 503890484
Question Shuffling Allowed : Yes

Question Number : 281 Question Id : 50389010425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who said this "Mathematics is the study of quantity"?

Note: For this question, discrepancy 1s found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. Brahmgupta

2. Aristotle

3. Aryabhatta

4. Pythagoras

Question Number : 281 Question Id : 50389010425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g 5T 81 g, *TI0Id A &1 3feaa 872

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :
1. SRR

2. 3T,
3. 3T

4. UTSYTIRY

Question Number : 282 Question Id : 50389010426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Mathematics is a sequential subject because —
1. Content proceed from simple to complex
2. The content of mathematics has logical structure

Options :

1. % Only 1

2. % Only 2

3. % Both 1 and 2
4. % Neither 1 nor 2

Question Number : 282 Question Id : 50389010426 Question Type
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IO U ki o § aaifes -
|, I TR T oifed Pt 3R Igat g
2. IO 1 dd H dIfdhes T8Il ©

Options :

1. % $Had |

2. % Had 2

3. ¢ gHl 1 3R 2

4. % A1 3RAE 2

Question Number : 283 Question Id : 50389010427 Question Type
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In mathematics, reasoning is used for —
1. Deductive reasoning
2. Inductive reasoning

Options :

1. % Only 1

2. % Only 2
3.4 Both 1 and 2

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option



4. % Neither 1 nor 2

Question Number : 283 Question Id : 50389010427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T A e BT STANT Bl § —
1. T 9 & forg

2. 3ATHS fad= & forg
Options :

1. % &Had 1

2. % Had 2

3.9 Q1 3R 2

4. % A1 3RAE 2

Question Number : 284 Question Id : 50389010428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which part of mathematics has been designed with an intention to orient the students towards the mathematical tools relevant in life?
Options :

1. ¥ Applied mathematics

2. % pure mathematics

3. ¥ Biomathematics

4. # Statistic

Question Number : 284 Question Id : 50389010428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TIOTd o o YT 1 ST &1 Siia- H YIRS T IUHRUN BT 3R I™ B & 1< I Soie- fovar mar g2

Options :

1. ¢ SR TIOTd
2. % g O




3. % GjIq 7o d
4. % QiRABIY

Question Number : 285 Question Id : 50389010429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Greek philosopher, Socrates is the exponent of
Options :

1. # Lecture method

2. ¥ Question-Answer method

3. # Tutorial method

4. * Demonstration method

Question Number : 285 Question Id : 50389010429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FAMeRegeRd . Hufdues e
Options :

1. % ogre fafd

2. ¢ UY-3R fafe

3. % IRy fafd

4. % yazH fafy

Question Number : 286 Question Id : 50389010430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Angleisa

Options :

1. ¥ Defined term

2. ¥ Theorem

3. % Axiom or Postulate



4. % Undefined term

Question Number : 286 Question Id : 50389010430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
POTH__ -

Options :

1. ¢ URHI Wsg

2. % UHY

3. % UG AT SHfHYRON

4. % JURHIVD Weq

Question Number : 287 Question Id : 50389010431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Statement accepted without proof'is called-
Options :

1. # Theorem

2. # Defined terms

3. # Unidefined Terms

4. ¥ Axioms or postulate

Question Number : 287 Question Id : 50389010431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fS1T 7101 & i d U HEANd 6-

Options :

1. % TRy

2. % gRIRE =1

3. % ORI =t

4. ¢ SRR AT SiftyRom



Question Number : 288 Question Id : 50389010432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who gave the ideas of infinity in mathematics?
Options :

1. ¥ Brahmagupta

2. # Aryabhatta

3. ¥ Ramanujan

4. % Bhaskaracharya

Question Number : 288 Question Id : 50389010432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
O H 3fd o faaR fova fgu?
Options :

1. #® dgl.:

2. % 3RIUT

3. ¢ AT

4. % YRHRER

Question Number : 289 Question Id : 50389010433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If a student is unable to answer a question during a lecture, then as a teacher what should be your response?
Options :

1. # You shall scold the student

2. % Tell the student the correct answer and then move ahead

3. % Try to understand why the student was unable to answer

4. ¥ Advise him to study harder

Question Number : 289 Question Id : 50389010433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

i DS BT ARAT b SR [P UY BT IR o & G0y 8, 41 T eih & U § 3Mueh! ufafshar om gl =g w?
Options :

1. % 39 BT B S

2. % T B T IR FaTC 3R fbR 3 a9¢

3. ¢ g JHSH BT U B P faemeff SR o 781 ¢ uran

4, % JY HiG T HIH Bl JAG €

Question Number : 290 Question Id : 50389010434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who is known as father of geometry?
Options :

1. % Pythagoras

2. % Bhaskaracharya

3. ¥ Brahmgupta

4. ¥ Euclid

Question Number : 290 Question Id : 50389010434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AR & % o =0 H {68 ST A 52
Options :

1. % OISYFIRY

2. % YRHRE™

3. % dglftd

4. ¥ giwas

Question Number : 291 Question Id : 50389010435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Mathematical proposition are

Options :

1. # Always true

2. % Always false

3. * True as well as false

4. ¥ Either true or false

Question Number : 291 Question Id : 50389010435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T URTd &

Options :

1. % gURNII

2. % GHIT 3T

3. % O 3R 3

4. 1 A § T 39

Question Number : 292 Question Id : 50389010436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which statement is correct about quantifiers?
1. Quantifiers are used to describe variable in statement.
2. Quantifiers used to represcut statement in.

Note: For this question, discrepancy is found in question/answer. So,this

question is 1gnored for all candidates.
Options :

1.Only 1

2. Only 2

3. Both 1 and 2

4. Neither 1 nor 2



Question Number : 292 Question Id : 50389010436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

URHATUGT & IR H B 1 HY T8 82
1. HYT H TR BT 9 B & o ufkaArorent o1 Iuan fear Srar g |
2. URHTTRT & HYF ! R J forem & forw swwra fear Srar g |

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. had 1

2. had 2

3.1 3R 2 GH

4.7d1 ARAG2

Question Number : 293 Question Id : 50389010437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following should be a required human-quality for teachers?
1. A teacher should take full interest in school and community problems
2. A teacher should do maximum effort to make his pupils disciplined.

Options :

1. % Only 1

2. % Only2

3. % Both | and 2
4. #® Neither 1 nor 2

Question Number : 293 Question Id : 50389010437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoRed & § o1 Rt & e saxge Aa-101 1 A1fge?




1. T R1e & Tpd 3R e qaws § gt foae=dt o+ anfge

2. T fR1e & Su faenfifal & Sr=iiRia §9H & o s s T -1 aTfg |
Options :

1. % dd |

2. % $Hdd 2

3. ¢ 1 3R 2 gl

4. % a1 3RAE 2

Question Number : 294 Question Id : 50389010438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which is not an example of set?

Options :

1. #® The set of positive integers

2. % The set of all rivers in India

3. # The set of all capital cities in India

4. ¥ The collection of intelligent student in class XII

Question Number : 294 Question Id : 50389010438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
B T T Y BT IeTex0 T8l 82
Options :

1. % YHIHD QUlieh! Bl T

2. % YRd &1 9t Al &1 Ig=a

3. % YRA & Y ISl b1 Ig=
4. v SREd He A g BT &1 UIE

Question Number : 295 Question Id : 50389010439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



If children find Mathematics tough, then they must -
Options :

1. # work out the problem as shown on the blackboard

2. # Try to remember the process

3. ¢ Ensure that they understand the basic of each process

4. ® Sit quietly and listen

Question Number : 295 Question Id : 50389010439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gf¢ S ! 0T B ol dl S5 A=y gl

Options :

1. % Sihale R WY TR THWT ST JHTYM BT 1Y
2. % YfchUl 1 TG TG BT YR BT AMRTY

3. ¢ YA B 1M b 9 e Ufehal & 7o &l qHgl
4. % JUATY §3HR AT AT

Question Number : 296 Question Id : 50389010440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four stages of children intellectual development has been defined by-
Options :

1. # Skinner

2. ¥ Piaget

3. % Kohlberg

4. ® Ericson

Question Number : 296 Question Id : 50389010440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Sl & gD [AHNI & IR RN B TRYUTII T 8-

Options :




1. % A
2. ¢ fUare A
3. % Higdad A
4. % TREETA

Question Number : 297 Question Id : 50389010441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Johann Friedrich Herbar is associated with -
Options :

1. #® Development of mathematics as a subject
2. ¥ Evolution of curriculum- field

3. # Evolution of extra-curricular activities

4. ® Development of Algebra for children

Question Number : 297 Question Id : 50389010441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Options :

1. % U favg & U H 71ford o faeg 9
2. ¢ UTSd%HH & [AH- a9 T

3. % Ureaa] nfafafel & e 3

4. % g} & o Semford & o

Question Number : 298 Question Id : 50389010442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following problems are faced by teachers while teaching Mathematics?
1. A sense of fear and failure regarding mathematics among a majority of children
2. In reality, Mathematics can be taught only to a limited few with proper 1Q towards the subject

Options :



1. ¥ Only 1

2. % Only 2

3. % Both 1 and 2
4. # Neither 1 nor 2

Question Number : 298 Question Id : 50389010442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T UeTd Ty Rt o) Fefeiad § @ fooet aeanal o1 91 31 uedl 82

|. SgU® T | 0 B Ahx HT 3R SRAH ] &1 HId

2. aRda H, 0T favg & ufa Ifad 9fa & 1 $ Sifd anTl & € 98 Uer ST 9dhdl §
Options :

1. ¥ $ad |

2. % PHad 2

3. % 1 3R 2aHN

4. % A1 3RAE 2

Question Number : 299 Question Id : 50389010443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following should be introduced in the secondary stage of Mathematics curriculum?
Options :

1. % Mathematical games

2. % Algebra

3. ¥ Trigonometry

4. ® Regular shapes: : triangles, circles, quadrilaterals

Question Number : 299 Question Id : 50389010443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Correct Marks : 1 Wrong Marks : 0.25
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Options :



1. ® T 9d

2. % SoRTiord

3. ¢ el

4. % il snefaar: : Ay, 99, aqds

Question Number : 300 Question Id : 50389010444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Alternating or changing our existing schemes in light of new information is known as -
Options :

1. % Schema

2. # Assimilation

3. ¥ Accomodation

4. ¥ Equilibration

Question Number : 300 Question Id : 50389010444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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3. ¢ A9
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